TABLE OF CONTENTS:

INTRODUGCTION ..ottt 2
MEET OUR TEAM Lot 3
1. HDPE FITTING, SADDLE CLAMP, HDPE & LDPE PIPES .... 4

2. UPVC PIPES, BENDS & COUPLERS ..o 11

3. ValVES i, 15

4. Freeflow Soil and Vent Fitting Small ..........ccocooiiiiiin 23

5. Freeflow Soil and Vent Fitting Big ......ooooovieiiiiiiiiicc 26

6. UD Fitting and Pipes 1&2 ....ccooveviiiiiiieeeeee, 29

7. CASTIRON FITTINGS ..o, 32

8. Galv. pipes and fittings .....ccooveiiiiiiiiieceee e 35

9. Cone / Copper Fitting ..ccooooiiiiiiiie 43

10. Stainless Steel Fittings .....ccoooiiiiiiiiiiiciceec, 48

LTER




WEA BACKGROUND

Water Engineering Africa is a wholly Namibian owned Municipal and Agricultural Engineering One
Stop Shop, based in the Northern Namibia, Oshakati. WEA supplies various types of pipes, fittings,
valves, submersible pumps and other types of water pumps, manhole covers and all other water

related accessories.

Furthermore, Water Engineering Africa also specializes in the construction of water and sewer
reticulations, storm water drainage and rural water supply; construction, installation and maintenance
of sewer pump stations and sewerage ponds; rehabilitation and installation of borehole systems and
pumps; excavation and rehabilitation of earth dams; construction of agricultural irrigation systems,

etc.

MILESTONES

Tangeni Nghiwewelekwa, a Plumber by profession established Water Engineering Africa cc. He

started operating in a garage turned into an office, which was about 8m2.

WEA moved from the small office and rented out a building in Ongwediva, which was about 240m2.

Due to WEA's significant growth, it was converted from a close corporation to a company (Pty).

WEA moved to its own newly established office complex in Oshakati, which includes offices, show

room, workshop, etc. The new premise built on a 2300m2 ERF.

LTER
e d

INEERING
RICA




MEET OUR TEAM

WE WILL BE MORE THAN WILLING TO ASSIST YOU

Tangeni Nghiwewelekwa
Managing Director

/ Elizabeth Noah Nghiwewelekwa Gladman Machekera
Director Finance Senior Projects Engineer

Anna Nakale Elon Shilongo
Accountant Project Engineer

Katrina Job Aina lishwiki Ndafapawa Isdor Taleninawa Ngesheya Veronica Mbidi
Procurement Officer Office Admin Book Keeper Cashier Store Lady

ﬂ:ﬁTER
ENCINEERING
FRICA



HDPE FITTING,
SADDLE CLAMP,
HDPE & LDPE PIPES

%‘E[‘JER
ENCINEERING
FRICA



HDPE FITTING, SADDLE CLAMP, HDPE & LDPE PIPES

HDPE COMPRESSION COUPLING

CODE DESCRIPTION
HDPECC20 COMPR. COUPLING 20
HDPECC25 COMPR. COUPLING 25
HDPECC32 COMPR. COUPLING 32
HDPECC40 COMPR. COUPLING 40
HDPECC50 COMPR. COUPLING 50
HDPECC63 COMPR. COUPLING 63
HDPECC75 COMPR. COUPLING 75
HDPECC90 COMPR. COUPLING 90
HDPECC110 COMPR. COUPLING 110

HDPE COMPRESSION REDUCING TEE

=l

CODE DESCRIPTION
HDPECRT11090 COMPR. RED. TEE 110/90
HDPECRT9075 COMPR. RED. TEE 90/75
HDPECRT7363 COMPR. RED. TEE 75/63
HDPECRT6350 COMPR. RED. TEE 63/50
HDPECR6340 COMPR. RED. TEE 63/40
HDPECRT6332 COMPR. RED. TEE 63/32
HDPECRT5040 COMPR. RED. TEE 50/40
HDPECRT5032 COMPR. RED. TEE 50/32
HDPECRT5025 COMPR. RED. TEE 50/25
HDPECRT4032 COMPR. RED. TEE 40/32
HDPECRT4025 COMPR. RED. TEE 40/25
HDPECRT3225 COMPR. RED. TEE 32/25
HDPECRT3220 COMPR. RED. TEE 32/20
HDPECRT2520 COMPR. RED. TEE 25/20

HDPE COMPRESSION ELBOW

CODE DESCRIPTION
HDPEC25 COMPR. ELBOW 25
HDPECE32 COMPR. ELBOW 32
HDPECE40 COMPR. ELBOW 40
HDPECES0 COMPR. ELBOW 50
HDPECE63 COMPR. ELBOW 63
HDPECE75 COMPR. ELBOW 75
HDPECES0 COMPR. ELBOW 90
HDPECE110 COMPR. ELBOW 110

HDPE COMPRESSION FEMALE ADAPTOR

CODE DESCRIPTION

HDPECFA2015 COMPR FEM ADAP 20/1/2"
HDPECFA2020 COMPR. FEM. ADAP 20/3/4"
HDPECFA2515 COMPR. FEM. ADAP 25/1/2"
HDPECFA2520 COMPR. FEM. ADAP 25/3/4"
HDPECFA2525 COMPR. FEM. ADAP 25/1"
HDPECFA3220 COMPR. FEM. ADAP 32/3/4"
HDPECFA3220 COMPR. FEM. ADAP 32/3/4"
HDPECFA3225 COMPR. FEM. ADAP 32/1"
HDPECFA3232 COMPR. FEM. ADAP 32/1 1/4"
HDPECFA4025 COMPR. FEM. ADAP 40/1"
HDPECFA4032 COMPR. FEM. ADAP 40/1 1/4"
HDPECFA4040 COMPR. FEM. ADAP 40/1 1/2"
HDPECFA5032 COMPR. FEM. ADAP 50/1 1/4"
HDPECFA5040 COMPR. FEM. ADAP 50/1 1/2"
HDPECFA5050 COMPR. FEM. ADAP 50/2"
HDPECFA6340 COMPR. FEM. ADAP 63/1 1/2"
HDPECFA6350 COMPR. FEM. ADAP 63/2"
HDPECFA6363 COMPR. FEM. ADAP 63/2 1/2"
HDPECFA7550 COMPR. FEM. ADAP 75/2"
HDPECFA7563 COMPR. FEM. ADAP 75/2 1/2"
HDPECFA7580 COMPR. FEM. ADAP 75/3"
HDPECFA9050 COMPR. FEM. ADAP 90/2"
HDPECFA9063 COMPR. FEM. ADAP 90/2 1/2"
HDPECFA9075 COMPR. FEM. ADAP 90/3"
HDPECFA90100 COMPR. FEM. ADAP 90/4"
HDPECFA11080 COMPR. FEM. ADAP 110/3"
HDPECFA110100 COMPR. FEM. ADAP 110/4"

TR

ATER
el

INEERING
RICA



HDPE COMPRESSION MALE ADAP HDPECRC6332 COMPR. RED. COUPLING 63/32
— HDPECRC6340 COMPR. RED. COUPLING 63/40
| 5 HDPECRC6350 COMPR. RED. COUPLING 63/50
" HDPECRC7550 COMPR. RED. COUPLING 75/50
CODE DESCRIPTION HDPECRC7563 COMPR. RED. COUPLING 75/63
HDPECMA2015 COMPR. MALE ADAP 20/1/2" HDPECRC9075 COMPR. RED. COUPLING 90/75
HDPECMA2020 COMPR. MALE ADAP 20/3/4" HDPECRC11090 COMPR. RED. COUPLING 110/90
HDPECMA2025 COMPR. MALE ADAP 20/1" HDPE COMPRESSION WALL PLATE ELBOW
HDPECMA2515 COMPR. MALE ADAP 25/1/2" -
HDPECMA2520 COMPR. MALE ADAP 25/3/4"
HDPECMA2525 COMPR. MALE ADAP 25/1"
HDPECMA3220 COMPR. MALE ADAP 32/3/4" CODE DESCRIPTION
HDPECMA3225 COMPR. MALE ADAP 32/1" HDPECWPE2520 COMPR. WALL PLATE ELBOW 25/3/4"
HDPECMA3232 COMPR. MALE ADAP 32/1 1/4 HDPE COMPRESSION TEE
HDPECMA3240 COMPR. MALE ADAP 32/1 1/2"
HDPECMA4025 COMPR. MALE ADAP 40/1"
HDPECMA4032 COMPR. MALE ADAP 40/1 1/4"
HDPECMA4040 COMPR. MALE ADAP 40/1 1/2"
11y CODE DESCRIPTION
HDPECMA4050 COMPR. MALE ADAP 50 /1 HDPECT20 COMPR_TEE 20
HDPECMA5032 COMPR. MALE ADAP 50 /1 1/4 HDPECT2S COMPR.TEE 25
HDPECMA5040 COMPR. MALE ADAP 50 /11/2 "
ny HDPECT32 COMPR. TEE 32
HDPECMA5050 COMPR. MALE ADAP 50 /2 "
/ HDPECT40 COMPR. TEE 40
HDPECMA6340 COMPR. MALE ADAP 63/11 /2"
11/ HDPECTS0 COMPR. TEE 50
HDPECMAG6350 COMPR. MALE ADAP 63/2 HDPECTES COMPR. TEE 63
HDPECMA6363 COMPR. MALE ADAP 63/2 1 /2 HOPECTTS COMPR.TEE 75
HDPECMA? MPR. MALE ADAP 75/2 "
CMA7550 o 5/ HDPECT90 COMPR. TEE 90
DPE . MALE AD 21/2"
HDPECMA7563 COMPR. MALE ADAP 75/2 1/ HDPECT110 COMPR. TEE 110
HDPECMA7580 COMPR. MALE ADAP 75/3 *
/ COMPRESSION END PLUG
HDPECMA9050 COMPR. MALE ADAP 90/2 * —
HDPECMA9063 COMPR. MALE ADAP 90/21 /2 "
HDPECMA9080 COMPR. MALE ADAP 90/3"
HDPECMA90100 COMPR. MALE ADAP 90/4 "
CODE DESCRIPTION
HDPECMA11050 COMPR. MALE ADAP 110/2 "
HDPECEP20 COMPR. END PLUG 20
HDPECMA11080 COMPR. MALE ADAP 110/3 *
HDPECEP25 COMPR. END PLUG 25
HDPECMA110100 COMPR. MALE ADAP 110/4 "
HDPECEP32 COMPR. END PLUG 32
HDPE COMPRESSION REDUCING COUPLING
HDPECEP40 COMPR. END PLUG 40
HDPECEP50 COMPR. END PLUG 50
HDPECEP63 COMPR. END PLUG 63
HDPECEP68 COMPR. END PLUG 75
CODE DESCRIPTION
HDPECEP90 COMPR. END PLUG 90
HDPECRC2520 COMPR. RED. COUPLING 25/20
HDPECEP110 COMPR. END PLUG 110
HDPECRC3220 COMPR. RED. COUPLING 32/20
HDPECRC2525 COMPR. RED. COUPLING 32/25
HDPECRC4025 COMPR. RED. COUPLING 40/25
HDPECRC4032 COMPR. RED. COUPLING 40/32
HDPECRC5025 COMPR. RED. COUPLING 50/25
HDPECRC5032 COMPR. RED. COUPLING 50/32
HDPECRC5040 COMPR. RED. COUPLING 50/40

LTER
el

INEERING
RICA




COMPRESSION FLANGE ADAP

HDPE COMPRESSION FEMALE ELBOW

CODE DESCRIPTION

HDPECFA5050 COMPR. FLANGE ADAP 50/2"
HDPECFA6350 COMPR. FLANGE ADAP 63/2 "
HDPECFA6363 COMPR. FLANGE ADAP 63/2 1/2"
HDPECFA7563 COMPR. FLANGE ADAP 75/2 1/2"
HDPECFA9080 COMPR. FLANGE ADAP 90/3"
HDPECFA90100 COMPR. FLANGE ADAP 90/4"
HDPECFA110100 COMPR. FLANGE ADAP 110/4"

HDPE COMPR UNIV. COUPLING GALV. COPP. PVC

CODE DESCRIPTION

HDPE COMPR. UNIV. COUPLING GALV.
HDPECUCGCP201521 COPP. PVC 20/15-21

HDPE COMPR. UNIV. COUPLING GALV.
HDPECUCGCP251521 COPP.PVC 25/15-21
HDPECUCGCP251527 HDPE COMPR. UNIV. COUPLING GALV.

COPP.PVC 25/15-27

COMPRESSION MALE ELBOW

CODE DESCRIPTION

HDPECFE2015 COMPR. FEM. ELBOW 20/1/2"
HDPECFE2020 COMPR. FEM. ELBOW 20/3/4"
HDPECFE2515 COMPR. FEM. ELBOW 25/1/2"
HDPECFE2520 COMPR. FEM. ELBOW 25/3/4"
HDPECFE2525 COMPR. FEM. ELBOW 25/1"
HDPECFE3215 COMPR. FEM. ELBOW 32/1/2"
HDPECFE3220 COMPR. FEM. ELBOW 32/3/4"
HDPECFE3225 COMPR. FEM. ELBOW 32/1"
HDPECFE3232 COMPR. FEM. ELBOW 32/1 1/4"
HDPECFE4025 COMPR. FEM. ELBOW 40/1"
HDPECFE4032 COMPR. FEM. ELBOW 40/1 1/4"
HDPECFE4040 COMPR. FEM. ELBOW 40/1 1/2"
HDPECFE5032 COMPR. FEM. ELBOW 50/1 1/4"
HDPECFE5040 COMPR. FEM. ELBOW 50/1 1/2"
HDPECFE5050 COMPR. FEM. ELBOW 50/2"
HDPECFE6340 COMPR. FEM. ELBOW 63/1 1/2"
HDPECFE6350 COMPR. FEM. ELBOW 63/2"
HDPECFE6363 COMPR. FEM. ELBOW 63/2 1/2"
HDPECFE7563 COMPR. FEM. ELBOW 75/2 1/2"
HDPECFE7580 COMPR. FEM. ELBOW 75/3"
HDPECFE9080 COMPR. FEM. ELBOW 90/3"
HDPECFES0100 COMPR. FEM. ELBOW 90/4"
HDPECFE110100 COMPR. FEM. ELBOW 110/4"

COMPRESSION FEMALE TEE

CODE DESCRIPTION

HDPECME2015 COMPR. MALE ELBOW 20/1/2"
HDPECME2020 COMPR. MALE ELBOW 20/3/4"
HDPECME2025 COMPR. MALE ELBOW 20/1"
HDPECME2515 COMPR. MALE ELBOW 25/1/2"
HDPECME2520 COMPR. MALE ELBOW 25/3/4"
HDPECME2525 COMPR. MALE ELBOW 25/1"
HDPECME3220 COMPR. MALE ELBOW 32/3/4"
HDPECME3225 COMPR. MALE ELBOW 32/1"
HDPECME3232 COMPR. MALE ELBOW 32/1 1/4"
HDPECME4025 COMPR. MALE ELBOW 40/1"
HDPECMEA4032 COMPR. MALE ELBOW 40/1 1/4"
HDPECME4040 COMPR. MALE ELBOW 40/1 1/2"
HDPECMES025 COMPR. MALE ELBOW 50/1"
HDPECMES5032 COMPR. MALE ELBOW 50/1 1/4"
HDPECMES040 COMPR. MALE ELBOW 50/1 1/2"
HDPECMES5050 COMPR. MALE ELBOW 50/2"
HDPECME6340 COMPR. MALE ELBOW 63/1 1/2"
HDPECME6350 COMPR. MALE ELBOW 63/2"
HDPECME6363 COMPR. MALE ELBOW 63/2 1/2"
HDPECME7563 COMPR. MALE ELBOW 75/2 1/2"
HDPECME7580 COMPR. MALE ELBOW 75/3"
HDPECMES080 COMPR. MALE ELBOW 90/3"
HDPECMES0100 COMPR. MALE ELBOW 90/4"
HDPECME110100 COMPR. MALE ELBOW 110/4"

CODE DESCRIPTION
HDPECFT2015 COMPR. FEM. TEE 20/1/2"
HDPECFT2020 COMPR. FEM. TEE 20/3/4"
HDPECFT2515 COMPR. FEM. TEE 25/1/2"
HDPECFT2520 COMPR. FEM. TEE 25/3/4"
HDPECFT2525 COMPR. FEM. TEE 25/1"
HDPECFT3215 COMPR. FEM. TEE 32/1/2"
HDPECFT3225 COMPR. FEM. TEE 32/1"
HDPECFT3232 COMPR. FEM. TEE 32/1 1/4"
HDPECFT4032 COMPR. FEM. TEE 40/3/4"
HDPECFT4025 COMPR. FEM. TEE 40/1"
HDPECFT4032 COMPR. FEM. TEE 40/1 1/4"
HDPECFT4040 COMPR. FEM. TEE 40/1 1/2"
HDPECFT5032 COMPR. FEM. TEE 50/1 1/4"
HDPECFT5040 COMPR. FEM. TEE 50/1 1/2"
HDPECFT5050 COMPR. FEM. TEE 50/2"
HDPECFT6332 COMPR. FEM. TEE 63/1 1/4"

VATER

INEERING
RICA




COMPRESSION FEMALE TEE -

CODE DESCRIPTION
HDPECFT6340 COMPR. FEM. TEE 63/1 1/2"
HDPECFT6350 COMPR. FEM. TEE 63/2"
HDPECFT6363 COMPR. FEM. TEE 63/2 1/2"
HDPECFT7550 COMPR. FEM. TEE 75/2"
HDPECFT7563 COMPR. FEM. TEE 75/2 1/2"
HDPECFT7580 COMPR. FEM. TEE 75/3"
HDPECFT9063 COMPR. FEM. TEE 90/2 1/2"
HDPECFT9080 COMPR. FEM. TEE 90/3"
HDPECFT90100 COMPR. FEM. TEE 90/4"
HDPECFT11080 COMPR. FEM. TEE 110/3"
HDPECFT110100 COMPR. FEM. TEE 110/4"

COMPRESSION MALE TEE

CODE DESCRIPTION

HDPECMT2015 COMPR. MALE TEE 20/1/2"
HDPECMT2020 COMPR. MALE TEE 20/3/4"
HDPECMT2515 COMPR. MALE TEE 25/1/2"
HDPECMT2520 COMPR. MALE TEE 25/3/4"

HDPE SPANNER

CODE DESCRIPTION

HDPES1632 HDPE SPANNER 16-32
HDPES16324075 HDPE SPANNER 16-32/40-75
HDPES63110 HDPE SPANNER 63-110

PLASSON SADDLE CLAMP 2 BOLTS

CODE DESCRIPTION

SCP2B2515 SADDLE CLAMP PLAS. 2 BOLTS 25/1/2"
SCP2B2520 SADDLE CLAMP PLAS. 2 BOLTS 25/3/4"
SCP2B3215 SADDLE CLAMP PLAS. 2 BOLTS 32/1/2"
SCP2B3220 SADDLE CLAMP PLAS. 2 BOLTS 32/3/4"
SCP2B3225 SADDLE CLAMP PLAS. 2 BOLTS 32/1"
SCP2B4015 SADDLE CLAMP PLAS. 2 BOLTS 40/1/2"
SCP2B4025 SADDLE CLAMP PLAS. 2 BOLTS 40/1"
SCP2B4015 SADDLE CLAMP PLAS. 2 BOLTS 50/1/2"
SCP2B5015 SADDLE CLAMP PLAS. 2 BOLTS 50/1/2"
SCP2B5020 SADDLE CLAMP PLAS. 2 BOLTS 50/3/4"
SCP2B5025 SADDLE CLAMP PLAS. 2 BOLTS 50/1"
SCP2B5032 SADDLE CLAMP PLAS. 2 BOLTS 50/1 1/4"

LTER
el

INEERING
RICA

PLASSON SADDLE CLAMP 2 BOLTS

-
CODE DESCRIPTION

SCP4B6315 SADDLE CLAMP PLAS. 4 BOLTS 63/1/2"
SCP4B6320 SADDLE CLAMP PLAS. 4 BOLTS 63/3/4"
SCP4B6325 SADDLE CLAMP PLAS. 4 BOLTS 63/1"
SCP4B6332 SADDLE CLAMP PLAS. 4 BOLTS 63/1 1/4"
SCP4B6340 SADDLE CLAMP PLAS. 4 BOLTS 63/1 1/2"
SCP4B7515 SADDLE CLAMP PLAS. 4 BOLTS 75/1/2"
SCP4B7515 SADDLE CLAMP PLAS. 4 BOLTS 75/3/4"
SCP4B7525 SADDLE CLAMP PLAS. 4 BOLTS 75/1"
SCP4B7532 SADDLE CLAMP PLAS. 4 BOLTS 75/1 1/4"
SCP4B7540 SADDLE CLAMP PLAS. 4 BOLTS 75/1 1/2"
SCP4B7550 SADDLE CLAMP PLAS. 4 BOLTS 75/2"
SCP4B9015 SADDLE CLAMP PLAS. 4 BOLTS 90/1/2"
SCP4B9020 SADDLE CLAMP PLAS. 4 BOLTS 90/3/4"
SCP4B9025 SADDLE CLAMP PLAS. 4 BOLTS 90/1"
SCP4B9032 SADDLE CLAMP PLAS. 4 BOLTS 90/1 1/4"
SCP4B9040 SADDLE CLAMP PLAS. 4 BOLTS 90/1 1/2"
SCP4B9050 SADDLE CLAMP PLAS. 4 BOLTS 90/2"

PLASSON SADDLE CLAMP 6 BOLTS

CODE DESCRIPTION

SCP6B11015 SADDLE CLAMP PLAS. 6 BOLTS 110/1/2"
SCP6B11020 SADDLE CLAMP PLAS. 6 BOLTS 110/3/4"
SCP6B11025 SADDLE CLAMP PLAS. 6 BOLTS 110/1"
SCP6B11032 SADDLE CLAMP PLAS. 6 BOLTS 110/1 1/4"
SCP6B11040 SADDLE CLAMP PLAS. 6 BOLTS 110/1 1/2"
SCP6B11050 SADDLE CLAMP PLAS. 6 BOLTS 110/2"
SCP6B11080 SADDLE CLAMP PLAS. 6 BOLTS 110/3"
SCP6B12550 SADDLE CLAMP PLAS. 6 BOLTS 125/2"
SCP6B14050 SADDLE CLAMP PLAS. 6 BOLTS 140/2"
SCP6B16020 SADDLE CLAMP PLAS. 6 BOLTS 160/3/4"
SCP6B16025 SADDLE CLAMP PLAS. 6 BOLTS 160/1"
SCP6B16032 SADDLE CLAMP PLAS. 6 BOLTS 160/1 1/4"
SCP6B16040 SADDLE CLAMP PLAS. 6 BOLTS 160/1 1/2"
SCP6B16050 SADDLE CLAMP PLAS. 6 BOLTS 160/2"
SCP6B16080 SADDLE CLAMP PLAS. 6 BOLTS 160/3"
SCP6B160100 SADDLE CLAMP PLAS. 6 BOLTS 160/4"
SCP6B20050 SADDLE CLAMP PLAS. 6 BOLTS 200/2"
SCP6B20080 SADDLE CLAMP PLAS. 6 BOLTS 200/3"
SCP6B200100 SADDLE CLAMP PLAS. 6 BOLTS 200/4"
SCP6B25050 SADDLE CLAMP PLAS. 6 BOLTS 250/2"




SCP6B25080 SADDLE CLAMP PLAS. 6 BOLTS 250/3"
SCP6B250100 SADDLE CLAMP PLAS. 6 BOLTS 250/4"
SCP6B31550 SADDLE CLAMP PLAS. 6 BOLTS 315/2"
SCP6B31580 SADDLE CLAMP PLAS. 6 BOLTS 315/3"
SCP6B315100 SADDLE CLAMP PLAS. 6 BOLTS 315/4"

COMPRESSION BACK NUT BLUE

CODE DESCRIPTION

HDPECBNB20 COMPR. BACK NUT BLUE 20
HDPECBNB25 COMPR. BACK NUT BLUE 25
HDPECBNB32 COMPR. BACK NUT BLUE 32
HDPECBNB40 COMPR. BACK NUT BLUE 40
HDPECBNB50 COMPR. BACK NUT BLUE 50
HDPECBNB63 COMPR. BACK NUT BLUE 63
HDPECBNB75 COMPR. BACK NUT BLUE 75
HDPECBNB90 COMPR. BACK NUT BLUE 90
HDPECBNB110 COMPR. BACK NUT BLUE 110

COMPRESSION CLINCH RING WHITE

-—

CODE DESCRIPTION

HDPECCRW20 COMPR. CLINCH RING WHITE 20
HDPECCRW25 COMPR. CLINCH RING WHITE 25
HDPECCRW32 COMPR. CLINCH RING WHITE 32
HDPECCRW40 COMPR. CLINCH RING WHITE 40
HDPECCRW50 COMPR. CLINCH RING WHITE 50
HDPECCRW63 COMPR. CLINCH RING WHITE 63
HDPECCRW75 COMPR. CLINCH RING WHITE 75
HDPECCRW90 COMPR. CLINCH RING WHITE 90
HDPECCRW110 COMPR. CLINCH RING WHITE 110

COMPRESSION LOCK RING BLACK

CODE DESCRIPTION

HDPECLRB20 COMPR. LOCK RING BLACK 20
HDPECLRB25 COMPR. LOCK RING BLACK 25
HDPECLRB32 COMPR. LOCK RING BLACK 32
HDPECLRB40 COMPR. LOCK RING BLACK 40
HDPECLRB50 COMPR. LOCK RING BLACK 50
HDPECLRB63 COMPR. LOCK RING BLACK 63
HDPECLRB75 COMPR. LOCK RING BLACK 75
HDPECLRB90 COMPR. LOCK RING BLACK 90
HDPECLRB110 COMPR. LOCK RING BLACK 110

COMPRESSION RUBBER O' RING BLACK

CODE

DESCRIPTION

HDPECRO'RB20

COMPR. RUBBER O' RING BLACK 20

HDPECRO'RB25

COMPR. RUBBER O' RING BLACK 25

HDPECRO'RB32

COMPR. RUBBER O' RING BLACK 32

HDPECRO'RB40

COMPR. RUBBER O' RING BLACK 40

HDPECRO'RB50

COMPR. RUBBER O' RING BLACK 50

HDPECRO'RB63

COMPR. RUBBER O' RING BLACK 63

HDPECRO'RB75

COMPR. RUBBER O' RING BLACK 75

HDPECRO'RB90

COMPR. RUBBER O' RING BLACK 90

HDPECRO'RB110

COMPR. RUBBER O' RING BLACK 110

HDPE PIPES CLASS 6

CODE DESCRIPTION
HDPEPC632100 HDPE PIPE CLASS 6 32/100m
HDPEPC640100 HDPE PIPE CLASS 6 40/100m
HDPEPC650100 HDPE PIPE CLASS 6 50/100m
HDPEPC66350 HDPE PIPE CLASS 6 63/50m
HDPEPC67550 HDPE PIPE CLASS 6 75/50m
HDPEPC69030 HDPE PIPE CLASS 6 90/30m
HDPEPC611030 HDPE PIPE CLASS 6 110/30m

HDPE PIPES CLASS 10

CODE DESCRIPTION
HDPEPC1020100 HDPE PIPE CLASS 10 20/100m
HDPEPC1025100 HDPE PIPE CLASS 10 25/100m
HDPEPC1032100 HDPE PIPE CLASS 10 32/100m
HDPEPC1040100 HDPE PIPE CLASS 10 40/100m
HDPEPC1050100 HDPE PIPE CLASS 10 50/100m
HDPEPC106350 HDPE PIPE CLASS 10 63/50m
HDPEPC107550 HDPE PIPE CLASS 10 75/50m
HDPEPC109030 HDPE PIPE CLASS 10 90/30m
HDPEPC1011030 HDPE PIPE CLASS 10 110/30m

VATER

INEERING
RICA




LDPEPC350100 LDPE PIPE CLASS 3 50/100m

LDPEPC365100 LDPE PIPE CLASS 3 65/100m
LDPEPC36550 LDPE PIPE CLASS 3 65/50m
LDPEPC38025 LDPE PIPE CLASS 3 80/25m

CODE DESCRIPTION LDPEPC38050 LDPE PIPE CLASS 3 80/50m

HDPEPC1220100 HDPE PIPE CLASS 12 20/100m

HDPEPC1225100 HDPE PIPE CLASS 12 25/100m

HDPEPC1232100 HDPE PIPE CLASS 12 32/100m

HDPEPC1240100 HDPE PIPE CLASS 12 40/100m

HDPEPC1250100 HDPE PIPE CLASS 12 50/100m CODE DESCRIPTION

HDPEPC126350 HDPE PIPE CLASS 12 63/50m LDPEPC612100 LDPE PIPE CLASS 6 12/100m

HDPEPC127550 HDPE PIPE CLASS 12 75/50m LDPEPC625100 LDPE PIPE CLASS 6 25/100m

HDPEPC129030 HDPE PIPE CLASS 12 90/30m LDPEPC640100 LDPE PIPE CLASS 6 40/100m

HDPEPC1211030 HDPE PIPE CLASS 12 110/30m LDPEPC650100 LDPE PIPE CLASS 6 50/100m

HDPE PIPES CLASS 16

CODE DESCRIPTION
HDPEPC1620100 HDPE PIPE CLASS 16 20/100m
HDPEPC1625100 HDPE PIPE CLASS 16 25/100m
HDPEPC1632100 HDPE PIPE CLASS 16 32/100m
HDPEPC1640100 HDPE PIPE CLASS 16 40/100m
HDPEPC1650100 HDPE PIPE CLASS 16 50/100m
HDPEPC1663100 HDPE PIPE CLASS 16 63/50m
HDPEPC167550 HDPE PIPE CLASS 16 75/50m
HDPEPC169030 HDPE PIPE CLASS 16 90/30m
HDPEPC1611030 HDPE PIPE CLASS 16 110/30m

HDPE PIPES SPECIAL 16

CODE

DESCRIPTION

HDPEPSCL1625150 | HDPE PIPE SPECIAL CL 16 25/150m

HDPEPSCL1632150 | HDPE PIPE SPECIAL CL 16 32/150m
HDPEPSCL1640150 | HDPE PIPE SPECIAL CL 16 40/150m
HDPEPSCL1650150 | HDPE PIPE SPECIAL CL 16 50/150m
HDPEPSCL1632200 | HDPE PIPE SPECIAL CL 16 32/200m

LDPE PIPES CLASS 3

CODE DESCRIPTION
LDPEPC320100 LDPE PIPE CLASS 3 20/100m

LDPEPC325100 LDPE PIPE CLASS 3 25/100m
LDPEPC332100 LDPE PIPE CLASS 3 32/100m
LDPEPC340100 LDPE PIPE CLASS 3 40/100m

V.TER

INEERING
RICA







UPVC PIPES, BENDS AND COUPLERS

UPVC PIPES

upvcppcl4160 UPVC PRESSURE PIPE CL4 160
upvcppcl6160 UPVC PRESSURE PIPE CL6 160
upvcppcl9160 UPVC PRESSURE PIPE CLS 160

upvcppcl12160

UPVC PRESSURE PIPE CL12 160

upvcppcl16160

UPVC PRESSURE PIPE CL16 160

upvcppcl4200 UPVC PRESSURE PIPE CL4 200
upvcppcl6200 UPVC PRESSURE PIPE CL6 200
upvcppcl9200 UPVC PRESSURE PIPE CL9 200

upvcppcl12200

UPVC PRESSURE PIPE CL12 200

upvcppcl16200

Upvc PRESSURE PIPE CL16 200

CODE DESCRIPTION

upvcppcld50 PRESS. PIPE CL4 50
upvcppcl650 UPVC PRESSURE PIPE CL6 50
upvcppcl950 UPVC PRESSURE PIPE CL9 50

upvcppcl1250

UPVC PRESSURE PIPE CL12 50

upveppcld250 UPVC PRESSURE PIPE CL4 250
upveppcl6250 UPVC PRESSURE PIPE CL 6 250
upvcppcl9250 UPVC PRESSURE PIPE CL9 250

upvcppcl1650

UPVC PRESSURE PIPE CL16 50

upvcppcl12250

UPVC PRESSUREPIPE CL12 250

upvcppcld63 UPVC PRESSURE PIPE CL4 63
upvcppcl663 UPVC PRESSURE PIPE CL6 63
upvcppcl963 UPVC PRESSURE PIPE CL9 63

upvcppcl1263

UPVC PRESSURE PIPE CL12 63

upvcppcl1663

UPVC PRESSURE PIPE CL16 63

upvcppcl16250

UPVC PRESSURE PIPE CL16 250

PVC PRESSURE BEND 90' CL 9

upveppcla7s UPVC PRESSURE PIPE CL4 75
upveppcl675 UPVC PRESSURE PIPE CL6 75
upveppcl97s UPVC PRESSURE PIPE CL9 75

upvcppcl1275

UPVC PRESSURE PIPE CL12 75

upvcppcll675

UPVC PRESSURE PIPE CL16 75

upveppcl490 UPVC PRESSURE PIPE CL4 90
upveppcl690 UPVC PRESSURE PIPE CL6 90
upveppcl990 UPVC PRESSURE PIPE CL9 90

upvcppcl1290

UPVC PRESSURE PIPE CL12 90

upvcppcl1690

UPVC PRESSURE PIPE CL16 90

upvcppcld110 UPVC PRESSURE PIPE CL4 110
upvcppcl6110 UPVC PRESSURE PIPE CL6 110
upvcppcl9110 UPVC PRESSURE PIPE CL9 110

upvcppcl12110

UPVC PRESSURE PIPE CL12 110

upvcppcl16110

UPVC PRESSURE PIPE CL16 110

upveppcld125 UPVC PRESSURE PIPE CL4 125
upveppcl6125 UPVC PRESSURE PIPE CL6 125
upveppcl9125 UPVC PRESSURE PIPE CL9 125

upvcppcl12125

UPVC PRESSURE PIPE CL12 125

upvcppcll16125

UPV pressure pipe CL 16 125

upvcppcld140 UPVC PRESSURE PIPE CL4 140
upvcppcl6140 UPVC PRESSURE PIPE CL6 140
upvcppcl9140 UPVC PRESSURE PIPE CL9 140

upvcppcl12140

UPVCPRESSURE PIPE CL12 140

upvcppcl16140

UPVCPRESSURE PIPE CL16 140

LTER
e d

INEERING
RICA

CODE DESCRIPTION

pvcpb90cl950 PVC PRESSURE BEND 90D CL9 50
pvcpb90cl963 PVC PRESSURE BEND 90D CL9 63
pvcpb90cl975 PVC PRESSURE BEND 90D CL9 75
pvcpb90ci990 PVC PRESSURE BEND 90D CL9 90
pvcpb90cl9110 PVC PRESSURE BEND 90D CL9 110
pvcpb90cl9160 PVC PRESSURE BEND 90D CL9 160
pvcpb90cl9200 PVC PRESSURE BEND 90D CL9 200
pvcpb90cl9250 PVC PRESSURE BEND 90D CL9 250
pvcpb90cl9315 PVC PRESSURE BEND 90D CL9 315

PVC PRESSURE BEND 45' CL 9

CODE DESCRIPTION

pvcpb45cl950 PVC PRESSURE BEND 45D CL9 50
pvcpb45cl963 PVC PRESSURE BEND 45D CL9 63
pvcpb45cl975 PVC PRESSURE BEND 45D CL9 75
pvcpb45cl990 PVC PRESSURE BEND 45D CL9 90
pvcpb45cl9110 PVC PRESSURE BEND 45D CL9 110
pvcpb45cl9160 PVC PRESSURE BEND 45D CL9 160
pvcpb45c19200 PVC PRESSURE BEND 45D CL9 200
pvcpb45cl9250 PVC PRESSURE BEND 45D CL9 250
pvcpb45cl9315 PVC PRESSURE BEND 45D CL9 315




PVC PRESSURE BEND 22.5' CL9

PVC PRESSURE BEND 45' CL16

CODE

DESCRIPTION

pvcpb45cl1650

PVC PRESSURE BEND 45D CL16 50

pvcpb45cl1663

PVC PRESSURE BEND 45D CL16 63

pvcpb45cl1675

PVC PRESSURE BEND 45D CL16 75

pvcpb45cl1690

PVC PRESSURE BEND 45D CL16 90

pvcpb45cl16110

PVC PRESSURE BEND 45D CL16 110

pvcpb45cl16160

PVC PRESSURE BEND 45D CL16 160

pvcpb45cl16200

PVC PRESSURE BEND 45D CL16 200

pvcpb45cl16250

PVC PRESSURE BEND 45D CL16 250

CODE DESCRIPTION

pvcpb225cl950 PVC PRESSURE BEND 22.2D CL9 50
pvcpb225cl963 PVC PRESSURE BEND 22.5D CL9 63
pvcpb225cl975 PVC PRESSURE BEND 22.5D CL9 75
pvcpb225c1990 PVC PRESSURE BEND 22.2D CL9 90
pvcpb225cl9110 PVC PRESSURE BEND 22.5D CL9 110
pvcpb225cl9160 PVC PRESSURE BEND 22.5D CL9 160
pvcpb225c19200 PVC PRESSURE BEND 22.5D CLS 200
pvcpb225c19250 PVC PRESSURE BEND 22.5D CL9S 250
pvcpb225cl9315 PVC PRESSURE BEND 22.5D CL9 315

PVC PRESSURE BEND 11.25' CL9

pvcpb45cl16315

PVC PRESSURE BEND 45D CL16 315

PVC PRESSURE BEND 22.5' CL16

CODE

DESCRIPTION

pvcpb22cl1650

PVC PRESSURE BEND 22.5D CL16 50

pvcpb22cl1663

PVC PRESSURE BEND 22.5D CL16 63

pvcpb22cl1675

PVC PRESSURE BEND 22.5D CL16 75

pvcpb22cl1690

PVC PRESSURE BEND 22.5D CL16 90

pvcpb22cl16110

PVC PRESSURE BEND 22.5D CL16 110

pvcpb22cl16160

PVC PRESSURE BEND 22.5D CL16 160

pvcpb22cl16200

PVC PRESSURE BEND 22.5D CL16 200

pvcpb22cl16250

PVC PRESSURE BEND 22.5D CL16 250

CODE DESCRIPTION

pvcpb112cl950 PVC PRESSURE BEND 11.25D CL9 50
pvcpb112cl963 PVC PRESSURE BEND 11.25D CL9 63
pvcpb112cl975 PVC PRESSURE BEND 11.25D CL9 75
pvcpb112cl990 PVC PRESSURE BEND 11.25D CL9 90
pvcpb112cl9110 PVC PRESSURE BEND 11.25D CL9 110
pvcpb112cl9160 PVC PRESSURE BEND 11.25D CL9 160
pvcpb112cl9200 PVC PRESSURE BEND 11.25D CL9 200
pvcpb112c19250 PVC PRESSURE BEND 11.25D CL9 250
pvcpb112c19315 PVC PRESSURE BEND 11.25D CL9 315

PVC PRESSURE BEND 90' CL16
CODE DESCRIPTION

pvcpb22cl16315

PVC PRESSURE BEND 22.5D CL16 315

PVC PRESSURE BEND 11.25' CL16

pvcpb90cl1650

PVC PRESSURE BEND 90D CL16 50

CODE

DESCRIPTION

pvcpb90cl1663

PVC PRESSURE BEND 90D CL16 63

pvcpb11cl1650

PVC PRESSURE BEND 11.5D CL16 50

pvcpb90cl1675

PVC PRESSURE BEND 90D CL16 75

pvcpb11cl1663

PVC PRESSURE BEND 11.5D CL16 63

pvcpb90cl1690

PVC PRESSURE BEND 90D CL16 90

pvcpb11cl1675

PVC PRESSURE BEND 11.5D CL16 75

pvcpb90cl16110

PVC PRESSURE BEND 90D CL16 110

pvcpb11cl1690

PVC PRESSURE BEND 11.5D CL16 90

pvcpb90cl16160

PVC PRESSURE BEND 90D CL16 160

pvcpb11cl16110

PVC PRESSURE BEND 11.5D CL16 110

pvcpb90cl16200

PVC PRESSURE BEND 90D CL16 200

pvcpb11cl16160

PVC PRESSURE BEND 11.5D CL16 160

pvcpb90cl16250

PVC PRESSURE BEND 90D CL16 250

pvcpb11cl16200

PVC PRESSURE BEND 11.5D CL16 200

pvcpb90cl16315

PVC PRESSURE BEND 90D CL16 315

pvcpb11cl16250

PVC PRESSURE BEND 11.5D CL16 250

pvcpb11cl16315

PVC PRESSURE BEND 11.5D CL16 315

ATER
el

INEERING
RICA




PVC COUPLERS CLASS 9

CASCADE FULL CLAMP

LTER
INEERING
RICA

CODE DESCRIPTION

pverecl9 PVC REPAIR COUPLING cl9 50

pverecl9 PVC REPAIR COUPLING CL9 63 ; N

pvcrecl9 PVC REPAIR COUPLING CL9 75 A \’

pvcrecl9 PVC REPAIR COUPLING CL9 90

pverecl9 PVC REPAIR COUPLING CL9 110 co;e E——

pvcrecl9 PVC REPAIR COUPLING CL9 160 - Cascade full Clamp 45-55

pverecl9 PVC REPAIR COUPLING CL9 200 I Cascade full Clamp 5967

pverecl9 PVC REPAIR COUPLING CL9 250 pm— Cascade full Clamp 6976

pverccl9 PVC REPAIR COUPLING CL9 315 p— Cascade full Clamp 7583

oV F——

CFC95104 Cascade full Clamp 95-104
CFC104113 Cascade full Clamp 104-113
CFC113120 Cascade full Clamp 113-120
CFC121130 Cascade full Clamp 121-130

CODE DESCRIPTION CFC126136 Cascade full Clamp 126-136

pvcrecl16 PVC REPAIR COUPLING CL16 50 CFC130142 Cascade full Clamp 130-142

pverecl16 PVC REPAIR COUPLING CL16 63 CFC150161 Cascade full Clamp 150-161

pverecl16 PVC REPAIR COUPLING CL16 75 CFC167176 Cascade full Clamp 167-176

pverecl16 PVC REPAIR COUPLING CL16 90 CFC174183 Cascade full Clamp 174-183

pverecl16 PVC REPAIR COUPLING CL16 110 CFC179189 Cascade full Clamp 179-189

pverecl16 PVC REPAIR COUPLING CL16 160 CFC189199 Cascade full Clamp 189-199

pverecl16 PVC REPAIR COUPLING CL16 200 CFC196205 Cascade full Clamp 196-205

pverecl16 PVC REPAIR COUPLING CL16 250 CFC218228 Cascade full Clamp 218-228

pverecl16 PVC REPAIR COUPLING CL16 315 CFC229238 Cascade full Clamp 229-238

CFC236245 Cascade full Clamp 236-245

CFC248257 Cascade full Clamp 248-257
CFC271281 Cascade full Clamp 271-281
CFC281290 Cascade full Clamp 281-290
CFC288298 Cascade full Clamp 288-298
CFC298309 Cascade full Clamp 298-309
CFC304314 Cascade full Clamp 304-314

CODE DESCRIPTION CFC312322 Cascade full Clamp 312-322

pvcaca5069 PVC-ASBEST PVC/AC 50 CFC322330 Cascade full Clamp 322-330

pvcaca6374 PVC-ASBEST PVC/AC 63 CFC331337 Cascade full Clamp 331-337

pvcaca7596 PVC-ASBEST PVC/AC 75 CFC332343 Cascade full Clamp 332-343

pvcaca90100 PVC-ASBEST PVC/AC 90 CFC342356 Cascade full Clamp 342-356

pvcacal00122 PVC-ASBEST PVC/AC 110 CFC356365 Cascade full Clamp 356-365

pvcacal50177 PVC-ASBEST PVC/AC 160

pvcaca200232 PVC-ASBEST PVC/AC 200

pvcaca250286 PVC-ASBEST PVC/AC 250

pvcaca31l5 PVC-ASBEST PVC/AC 315







Cobra 1001 Gate Valve

CODE DESCRIPTION

C1001GV15 | Cobra 1001 Gate Valve 15
C1001GV20 | Cobra 1001 Gate Valve 20
C1001GV25 | Cobra 1001 Gate Valve 25
C1001GV32 | Cobra 1001 Gate Valve 32
C1001GV40 | Cobra 1001 Gate Valve 40
C1001GV50 | Cobra 1001 Gate Valve 50

Cobra 1002 Gate Valve

CODE DESCRIPTION

C1002GV15 | Cobra 1002 Gate Valve 15
C1002GV20 | Cobra 1002 Gate Valve 20
C1002GV25 | Cobra 1002 Gate Valve 25
C1002GV32 | Cobra 1002 Gate Valve 32
C1002GV40 | Cobra 1002 Gate Valve 40
C1002GV50 | Cobra 1002 Gate Valve 50

Gate Valve Brass

CODE DESCRIPTION
GVB8 Gate Valve Brass 8
GVB10 Gate Valve Brass 10
GVB15 Gate Valve Brass 15
GVB20 Gate Valve Brass 20
GVB25 Gate Valve Brass 25
GVB32 Gate Valve Brass 32
GVB40 Gate Valve Brass 40
GVB50 Gate Valve Brass 50
GVB65 Gate Valve Brass 65
GVB80 Gate Valve Brass 80
GVB100 Gate Valve Brass 100

LTER
e d

INEERING
RICA

Valve 1

Handwheel for Gate Valve

Saunders A-Type Valve

Cobra 221 Stopcock Brass

CODE DESCRIPTION

C221SCB15 | Cobra 221 Stopcock Brass 15
C221SCB20 | Cobra 221 Stopcock Brass 20
C221SCB25 | Cobra 221 Stopcock Brass 25

Cobra 121 Stopcock Brass

=

A
s
CODE DESCRIPTION
C121SCB15 | Cobra 121 Stopcock Brass 15
C121SCB20 | Cobra 121 Stopcock Brass 20
C121SCB25 | Cobra 121 Stopcock Brass 25

Glen Ball Valve

& b

CODE DESCRIPTION
GBV15
GBV20

Glen Ball Valve 15

Glen Ball Valve 20

CODE DESCRIPTION CODE DESCRIPTION

HWFGV Handw. for Gate Valve 8 SATV15 Saunders A-Type Valve 15
HWFGV Handw. for Gate Valve 10 SATV20 Saunders A-Type Valve 20
HWFGV Handw. for Gate Valve 15 SATV25 Saunders A-Type Valve 25
HWFGV Handw. for Gate Valve 20 SATV32 Saunders A-Type Valve 32
HWFGV Handw. for Gate Valve 25 SATV40 Saunders A-Type Valve 40
HWFGV Handw. for Gate Valve 32 SATV50 Saunders A-Type Valve 50
HWFGV Handw. for Gate Valve 40 SATV65 Saunders A-Type Valve 65
HWFGV Handw. for Gate Valve 50 SATV80 Saunders A-Type Valve 80
HWFGV Handw. for Gate Valve 65 Cobra LK121 Stopcock Brass
HWFGV Handw. for Gate Valve 80

HWFGV Handw. for Gate Valve 100

CODE DESCRIPTION
CLK121SCB | Cobra LK121 Stopcock Brass
CLK121SCB | Cobra LK121 Stopcock Brass

Cobra 084 Key

CODE DESCRIPTION
C084K Cobra 084 Key

Cobra 208 hose Bibcock

J-I

CODE DESCRIPTION

C208HBC15 | Cobra 208 Hose Bibcock 15
C208HBC20 | Cobra 208 Hose Bibcock 20
C208HBC25 | Cobra 208 Hose Bibcock 25




Push Button Chrome Bibtap

-
CODE DESCRIPTION
PBCBT15 | Push Butt. Chro. Bebtap 15

Saunders A-Type Diaphragm

Valve 2

Hose Bibcock Brass

--L‘

Pro Close & Rachet Hose Bibtap

f
=

| |
\

CODE DESCRIPTION

PCRHB P.ro Close & Rachet Hose
Bibtap

PVSC Plasson Valve Stopcock

SATV25 Saunders A-Type Valve 25

FWWW15 Fibre Washer Warm Water 15

FWWW20 | Fibre Washer Warm Water 20

RW15 Rubber Washer 15

RW20 Rubber Washer 20

RW25 Rubber Washer 25

CODE DESCRIPTION
. HBB15 Hose Bib Tap 15
HBB20 Hose Bib Tap 20
CODE DESCRIPTION Plain Bibcock Brass
SATD15 Saunders A-Type Diaphragm 15
SATD20 Saunders A-Type Diaphragm 20
SATD25 Saunders A-Type Diaphragm 25
SATD32 Saunders A-Type Diaphragm 32 CODE DESCRIPTION
SATD40 Saunders A-Type Diaphragm 40 PBB15 Plain Bibcock Brass 15
SATD50 | Saunders A-Type Diaphragm 50 PBB20 Plain Bibcock Brass 20
SATD65 Saunders A-Type Diaphragm 65 Stopcock Brass
SATD80 Saunders A-Type Diaphragm 80 =
I
CODE DESCRIPTION
SCB15 Stopcock Brass 15
SCB20 Stopcock Brass 20
PVSC Plasson Valve Stopcock
PVSC Plasson Valve Stopcock
SATV25 Saunders A-Type Valve 25

CODE DESCRIPTION

THCB1215 | Tap Hose Con. Brass 1/2x15
THCB3415 Tap Hose Con. Brass 3/4x20
THCB3420 Tap Hose Con. Brass 3/4x20

Silver Ball Valve

\Lr
CODE DESCRIPTION
SBV8 Silver Ball Valve 8
SBV10 Silver Ball Valve 10
SBV15 Silver Ball Valve 15
SBV20 Silver Ball Valve 20
SBV25 Silver Ball Valve 25
SBV32 Silver Ball Valve 32
SBV40 Silver Ball Valve 40
SBV50 Silver Ball Valve 50
SBV65 Silver Ball Valve 65
SBV80 Silver Ball Valve 80
SBV100 Silver Ball Valve 100

Nylon Ball Valve Black

_—

CODE DESCRIPTION

NBVB15 Nylon Ball Valve Black 15
NBVB20 Nylon Ball Valve Black 20
NBVB25 Nylon Ball Valve Black 25
NBVB32 Nylon Ball Valve Black 32
NBVB40 Nylon Ball Valve Black 40
NBVB50 Nylon Ball Valve Black 50

Hose Bibcock Silver Ball

P o

CODE DESCRIPTION
HBCSB15 Hose Bibcock Silver Ball 15
HBCSB20 Hose Bibcock Silver Ball 20
i
S
CODE DESCRIPTION
SLNRVB15 | Spring Loaded N.R.V Brass 15
SLNRVB20 | Spring Loaded N.R.V Brass 20
SLNRVB25 | Spring Loaded N.R.V Brass 25
SLNRVB32 | Spring Loaded N.R.V Brass 32
SLNRVB40 | Spring Loaded N.R.V Brass 40
SLNRVB50 | Spring Loaded N.R.V Brass 50
SLNRVB65 | Spring Loaded N.R.V Brass 65
SLNRVB80 | Spring Loaded N.R.V Brass 80
SLNRVB100 | Spring Loaded N.R.V Brass 100

Swing Type N.R.V Brass

<

CODE DESCRIPTION

STNRVB15 | Swing Type N.R.V Brass 15
STNRVB20 | Swing Type N.R.V Brass 20
STNRVB25 | Swing Type N.R.V Brass 25
STNRVB32 | Swing Type N.R.V Brass 32
STNRVB40 | Swing Type N.R.V Brass 40
STNRVB50 | Swing Type N.R.V Brass 50
STNRVB65 | Swing Type N.R.V Brass 65
STNRVB80 | Swing Type N.R.V Brass 80
STNRVB100 | Swing Type N.R.V Brass 100

ATER
el

INEERING
RICA




Foot Valve Screwed Brass

Flex Connector

Float Arm Brass

LTER
el

INEERING
RICA

o ) §
CODE DESCRIPTION CODE DESCRIPTION CODE DESCRIPTION
FVSB Foot Valve Screwed Brass FC15350 Flex Connector 15/350 FAB15 Float Arm Brass 15
FVSB Foot Valve Screwed Brass FC15450 Flex Connector 15/450 FAB20 Float Arm Brass 20
FVSB Foot Valve Screwed Brass FAB25 Float Arm Brass 25
FVSB Foot Valve Screwed Brass FAB32 Float Arm Brass 32
FVSB Foot Valve Screwed Brass Fﬂ FAB40 Float Arm Brass 40
FVSB Foot Valve Screwed Brass : FAB50 Float Arm Brass 50
FVSB Foot Valve Screwed Brass CODE DESCRIPTION
FVSB Foot Valve Screwed Brass AVR1515 Angle Valve Reg. 15-15
Y-Strainer Brass AVR1520 Angle Valve Reg. 15-20 |
CODE DESCRIPTION
FVBB1158 F/Valve Brass Ball 115/8
CODE DESCRIPTION FVBB1258 F/Valve Brass Ball 125/8
YSB15 Y-Strainer Brass 15 FVBB1508 F/Valve Brass Ball 150/8
YSB20 Y-Strainer Brass 20 FVBB15010 F/Valve Brass Ball 150/10
YSB25 Y-Strainer Brass 25 FlO at Va Ives 3 FVBB20010 | F/Valve Brass Ball 200/10
YSB32 Y-Strainer Brass 32 FVBB20012 F/Valve Brass Ball 200/12
YSB40 Y-Strainer Brass 40 FVBB25012 F/Valve Brass Ball 250/12
YSB50 Y-Strainer Brass 50 FVBB30012 F/Valve Brass Ball 300/12
Screen for Check Valve q Galv. Plastic L/P Float Valve
CODE DESCRIPTION
CODE DESCRIPTION HPFVB15 H/P Float Valve Brass 15 CODE DESCRIPTION
CVS15 Check Valve Screen 15 HPFVB20 H/P Float Valve Brass 20 GPLPFV40 Galv. Plas. L/P Float Val. 40
CVS20 Check Valve Screen 20 HPFVB25 H/P Float Valve Brass 25 FVO40 Flaot Val. only 40
CVS25 Check Valve Screen 25 HPFVB32 H/P Float Valve Brass 32 RO40 Rubber only 40
CVS32 Check Valve Screen 32 HPFVB40 H/P Float Valve Brass 40
CVS40 Check Valve Screen 40 HPFVB50 H/P Float Valve Brass 50 )
CVS50 Check Valve Screen 50 t _t
CVsS65 Check Valve Screen 65 d 1?
CVSs80 Check Valve Screen 80 : CODE DESCRIPTION
CVS100 Check Valve Screen 100 . TFVIB15 Tom. Float Val. incl.Ball 15
CODE DESCRIPTION TFVIB20 Tom. Float Val. incl.Ball 20
LPFVB15 L/P Float Valve Brass 15 TFVIB25 Tom. Float Val. incl.Ball 25
LPFVB20 L/P Float Valve Brass 20 TFVIB32 Tom. Float Val. incl.Ball 32
LPFVB25 L/P Float Valve Brass 25 TFVIB40 Tom. Float Val. incl.Ball 40
CODE DESCRIPTION LPFVB32 L/P Float Valve Brass 32
SLNRVN15 | Spring Loded N.R.V Nylon 15 LPFVB40 L/P Float Valve Brass 40
SLNRVN20 | Spring Loded N.R.V Nylon 20 LPFVB50 L/P Float Valve Brass 50
SLNRVN25 | Spring Loded N.R.V Nylon 25




LP & HP Trogtek Float Valve
A
R

()

Apex Repair Kit

-

Shower Rose Chrome Plated

Apex Float Valve (excl. Ball)

CODE DESCRIPTION
AFVEB15 Apex Flo. Val. (excl. Ball) 15
AFVEB20 Apex Flo. Val. (excl. Ball) 20
AFVEB25 Apex Flo. Val. (excl. Ball) 25
AFVEB32 Apex Flo. Val. (excl. Ball) 32
Apex Float Valve (big boy)
CODE DESCRIPTION
AFVBB1508 | Apex Flo. Val. (Big B.) 150/8
Apex Float Ball
CODE DESCRIPTION
AFB1508 Apex Float Ball 150/8
Stainless Steel Float Ball

CODE DESCRIPTION

Stainless Steel Float Ball
SSFB15010 150/10

Stainless Steel Float Ball
SSFB20012 200/12

CODE DESCRIPTION CODE DESCRIPTION CODE DESCRIPTION
TFV15 Trogtek Float Valve 15 ARK Apex Repair Kit SRCPE515 Shower Rose Chrome Plated
: 65/15
TFV20 Trogtek Float Valve 20 Plastic Bottom Inlet Float Valve
SRCPS515 Shower Rose Chrome Plated
TFV25 Trogtek Float Valve 25 85/15
Float Valve Plastic Ball - " SRCP10015 Shower Rose Chrome Plated
100/15
Shower Rose Chrome Plated
CODE DESCRIPTION SRCP12515 1 155/15
PBIFV15 Plas. Bott. Inlet Float Val. 15 Pig Drinking Nipple SS
CODE DESCRIPTION Plastic Side Inlet Float Valve »
» \
FVPB1108 Flaot Val. Plas. (Orange) 110/8| r Q&
FVPB1128 Flaot Val. Plas (Orange) 112/8 o
FVPB1258 Flaot Val. Plas. (Orange) 125/8 CODE DESCRIPTION
FVPB15010 i?g/tl\c/)al. Plas. (Orange) CODE DESCRIPTION PDNSS12 Pig Drinking Nipple SS 12
PSIFV15 Plas. Side Inlet Float Val. 15 Taplock Cylinder

Bottom/Side Inlet Float Valve
DIET Y]

CODE DESCRIPTION
B/S Inlet Float Valve
BSIFVD15 Diaphragm 15

Jooster Float Valve

CODE DESCRIPTION

JFV20 Joster Float Valve 20
JFVS25 Joster Float Valve short 25
JFVL25 Joster Float Valve long 25
JFV32 Joster Float Valve 32

Pig Drinking Nipple Brass

—id

DESCRIPTION

CODE

PDNB20 Pig Drinking Nipple Brass 20

Stockman Float Valve

‘|

CODE
SMFVHPW15
SMFVMPB15
SMFVLPR15

DESCRIPTION
Stockm. float Valve HP W 15

Stockm. float Valve MP B 15

Stockm. float Valve LP R 15

CODE DESCRIPTION
TLCS Taplock Cylinder Small
TLCL Taplock Cylinder Large

Eduan Float Valve

g¢

DESCRIPTION

CODE
EFV25

Eduan Float Valve

VATER

INEERING
RICA




Cl RSV Gate Valve Flanged

b

Gates, Butterfly e.t.c

C.l Valve Cap Top

CODE DESCRIPTION CODE DESCRIPTION
CIRSVGVF50 CI RSV Gate Val. Fla. 50 CIVCT Cl Valve Cap Top
CIRSVGVF80 CI RSV Gate Valve Fla. 80 CI N.R.V Flanged Swing

CIRSVGVF100

CI RSV Gate Val. Fla. 100

CIRSVGVF150

CI RSV Gate Val. Fla. 150

CIRSVGVF200

CI RSV Gate Val. Fla. 200

CIRSVGVF250 | CI RSV Gate Val. Fla. 250 CODE DESCRIPTION
CIRSVGVF300 | CI RSV Gate Val. Fla. 300 CINRVFS50 CI N.R.V Flanged Swing 50
CINRVFS65 CI N.R.V Flanged Swing 65

CINRVFS80 CI N.R.V Flanged Swing 80
CINRVFS100 CI N.R.V Flanged Swing 100
CINRVFS150 CIN.RV Flanged Swing 150

CODE DESCRIPTION CINRVFS200 CI'N.RV Flanged Swing 200

CIRSVGVS63 CI RSV Gate Val. Sock. 63 CINRVFS250 CI N.R.V Flanged Swing 250

CIRSVGVS75 CI RSV Gate Val. Sock. 75 CINRVFS300 CI N.R.V Flanged Swing 300

CIRSVGVS90 CI RSV Gate Val. Sock. 90

CIRSVGVS110

CI RSV Gate Val. Sock. 110

CIRSVGVS160

CI RSV Gate Val. Sock. 160

CIRSVGVS200

CI RSV Gate Val. Sock. 200

CIRSVGVS250 | CI RSV Gate Val. Sock. 250 CODE DESCRIPTION
CIRSVGVS315 CI RSV Gate Val. Sock. 315 CIYTFS50 Cl Y-Type Flanged Strainer 50
CIYTFS65 Cl Y-Type Flanged Strainer 65
CIYTFS80 Cl Y-Type Flanged Strainer 80
CIYTFS100 | CI Y-Type Flanged Strainer 100
CIYTFS150 | CI Y-Type Flanged Strainer 150
CODE DESCRIPTION CIYTFS200 | CIY-Type Flanged Strainer 200
HWEGV5015 H. W. For Gate Val. 50/15 CIYTFS250 | CI Y-Type Flanged Strainer 250
HWEGV6515 H. W. For Gate Val. 65/15 CIYTFS300 | CIY-Type Flanged Strainer 300
HWFGV8015 | H.W. For Gate Val. 80/15 C.I.N.R.V Ball Sewer
HWFGV10015 | H.W. For Gate Val. 100/15
HWFGV15019 | H.W. For Gate Val. 150/19
HWFGV20024 | H.W. For Gate Val. 200/24
HWFGV25027 | H.W. For Gate Val. 250/27 CODE DESCRIPTION
HWFGV300 H. W. For Gate Val.e 300 CINRVBS50 C.IN.RV Ball Sewer 50
HWFGV350 H. W. For Gate Val. 350 CINRVBS80 C.IN.RV Ball Sewer 80
HWFGV400 H. W. For Gate Val. 400 CINRVBS100 C.IN.R.V Ball Sewer 100
C.l Valve T-Key CINRVBS150 C.IN.R.V Ball Sewer 150
CINRVBS200 C.IN.RV Ball Sewer 200
CODE DESCRIPTION
CIVTK Cl Valve T-Key

LTER
e d

ERING
ICA

Butterfly Valve Lever

CODE DESCRIPTION

BFVL50 Butterfly Valve Lever 50
BFVL65 Butterfly Valve Lever 65
BFVL80 Butterfly Valve Lever 80
BFVL100 Butterfly Valve Lever 100
BFVL150 Butterfly Valve Lever 150
BFVL200 Butterfly Valve Lever 200
BFVL250 Butterfly Valve Lever 250
BFVL300 Butterfly Valve Lever 300

Butterfly Valve Gearbox

| DESCRIPTION
Butterfly Valve Gearbox 50

CODE
BFVGB50
BFVGB65

Butterfly Valve Gearbox 65

BFVGB80 | Butterfly Valve Gearbox 80

BFVGB100 | Butterfly Valve Gearbox 100

BFVGB150 | Butterfly Valve Gearbox 150

BFVGB200 | Butterfly Valve Gearbox 200

BFVGB250 | Butterfly Valve Gearbox 250

BFVGB300 | Butterfly Valve Gearbox 300

Slim Check Valve M/S 16 bar

€

—
CODE DESCRIPTION
SCVMS16B50 SI. Ch. Val. M/S 16 bar 50

SCVMS16B65 Sl. Ch. val.
SCVMS16B80 Sl. Ch. Val.
SCVMS16B100 | SI. Ch. Val.
SCVMS16B150 | SI. Ch. Val.
SCVMS16B200 | SI. Ch. Val.
SCVMS16B250 | SI. Ch. Val.
SCVMS16B300 | SI. Ch. Val.

M/S 16 bar 65

M/S 16 bar 80

M/S 16 bar 100
M/S 16 bar 150
M/S 16 bar 200
M/S 16 bar 250
M/S 16 bar 300




Cl AVK Gate Valve Socketed C.T

s

Knife Gate Valve

é CODE
CICVSDW50

Cl Check Valve Double D.W

)

DESCRIPTION CODE DESCRIPTION

ClI Check Val. Dou. D.W 50 CIAVKGVSCT63 | CI AVK Val. Sock. C.T 63
CODE DESCRIPTION CICVSDW65 CI Check Val. Dou. DW 65 CIAVKGVSCT75 | Cl AVK Val. Sock. C.T 75
KGV50 Knife Gate Valve 50 CICVSDW80 CI Check Val. Dou. D.W 80 CIAVKGVSCT90 | Cl AVK Val. Sock. C.T 90
KGV80 Knife Gate Valve 80 CICVSDW100 | CI Check Val. Dou. D.W 100 CIAVKGVSCT100 | Cl AVK Val. Sock. C.T 100
KGV100 Knife Gate Valve 100 CICVSDW150 | CI Check Val. Dou. D.W 150 CIAVKGVSCT160 | Cl AVK Val. Sock. C.T 160
KGV150 Knife Gate Valve 150 CICVSDW200 | CI Check Val. Dou. D.W 200 CIAVKGVSCT200 | Cl AVK Val. Sock. C.T 200
KGV200 Knife Gate Valve 200 CICVSDW250 | CI Check Val. Dou. D.W 250 CIAVKGVSCT250 | CI AVK Val. Sock. C.T 250
KGV250 Knife Gate Valve 250 CICVSDW300 | CI Check Val. Dou. D.W 300 CIAVKGVSCT315 | CI AVK Val. Sock. CT 315
KGV300 Knife Gate Valve 300

Cl Check Valve Single D.W

9

CODE DESCRIPTION CODE DESCRIPTION
CICVSDW50 Cl Check Val. Sin D.W 50 CIAVKGVFCT 50 Cl AVK Val. Flan. C.T 50
CICVSDW65 Cl Check Val. Sin D.W 65 CIAVKGVFCT 80 Cl AVK Val. Flan. C.T 80
CICVSDW80 | CI Check Val. Sin D.W 80 CIAVKGVFCT 100 | CI AVK Val. Flan. C.T 100
CICVSDW100 | CI Check Val. Sin DW 100 CIAVKGVFCT 150 | CI AVK Val. Flan. C.T 150
CICVSDW150 | CI Check Val. Sin. DW 150

CIAVKGVFCT 200 | CI AVK Val. Flan. C.T 200
CICVSDW200 | CI Check Val. Sin D.W 200

CIAVKGVFCT 250 | CI AVK Val.Flan. C.T 250
CICVSDW250 | ClI Check Val. Sin DW 250

CIAVKGVFCT 300 | CI AVK Val. Flan. C.T 300
CICVSDW300 | CI Check Val. Sin D.W 300

ATER
el

INEERING
RICA




Fire Hydrants & Accessiries

Fire Hose Reel

Cl AG Tamper Proof 80

CODE DESCRIPTION CODE DESCRIPTION
FHRNH3020 Fire Hose Reel Nylon Hose 30m x 20 CIAGTP80 ClI AG Tamper Proof (Single lug) 80
FHRRH3020 Fire Hose Reel Rubber Hose 30m x 20 Handle for Tamper proof
Chrome Valve FHR
£ b Y
CODE DESCRIPTION
CODE DESCRIPTION HFTP Handle ffor Tamper proof
CVFHR25 Chrome Valve FHR 25 Fire Hydrant U/G Bayonet
Draw Shackle FHR
CODE DESCRIPTION
CODE DESCRIPTION FHUGB Fire Hydrant U/G Bayonet
DSFHR Draw shackle FHR Fire Hydrant U/G Round
Fire Hydrant above Ground
CODE DESCRIPTION
CODE DESCRIPTION FHUGR Fire Hydrant U/G Round
FHAGS80 Fire Hydrant Normal Landing Fire Nozzel Brass
Fire Hydrant Outlet Gasket
CODE DESCRIPTION
CODE DESCRIPTION FNB20 Fire Nozzel Brass 20
FHOG Fire Hydrant Outlet Gasket FNB25 Fire Nozzel Brass 25
Fire Hydrant Plunger Gasket Fire Nozzel Alu
CODE DESCRIPTION CODE DESCRIPTION
FHPG Fire Hydrant Plug Gasket FNA20 Fire Nozzel Alu 20
Fire Hycrant Cap & Chain L FreHadawn
CODE DESCRIPTION CODE DESCRIPTION
FHCC Fire Hydrant Cap and Chain FHG20 Fire Hand Gun

LTER
e d

INEERING
RICA







Freeflow Soil and Vent Fitting Small

S+V Pipe Plain 6mtr

a® e

S+V Socket Solvent Weld

S+V Pipe Conduit 4mtr
- . CODE DESCRIPTION
FSMA4011/4 | FEM. Adp 40/1 1/4"
CODE DESCRIPTION

FSMA4011/2 | FEM. Adp 40/11/2 naomre | SingleJunc. Access
FSMA5011/4 | FEM. Adp 50/1 1/4" 40/87.5'
FSMA5011/2 | FEM. Adp 50/11/2" FSSIAS0875 ég‘/gg's JS‘f“C Access
FSMAS502 FEM. Adp 50/2" - x ,

CODE DESCRIPTION p S0/ Double Junction Plain 87.5

SVPCP420 | S+V Pipe Conduit 20 4mtr e r

SVPCP440 S+V Pipe Conduit 40 4mtr _ ‘

©

Redu. Bush Plain

I

Single Junction Plain 87.5'

o

ab
,".'L bz DESCRIPTION CODE DESCRIPTION
“" FFSRBP5040 Redu. Bush Plain 50/40 FSSIP40875 | Single Junc. Plain 40/87.5'
[ SR FSSIPS0875 | Single Junc. Plain50/87.5'
SVPP640 S+V Pipe Plain 40 6mtr -
SVPP650 S+V Pipe Plain 50 6mtr l

g

CODE DESCRIPTION
CODE DESCRIPTION FSDJP40875 | Double Junc. Plain 40/87.5'
FSBP40875 Bend Plain 40/87.5' FSDJP50875 | Double Junc. Plain 50/87.5'
FSBP50875 Bend Plain 50/87.5'
SSW40 S+V Socket Solv. Weld 40 SN
SSW40 S+V Socket Solv. Weld 50 '
(-
CODE DESCRIPTION
o CODE DESCRIPTION FSDIP40875 | Free. Soil Doub. Junc. 40/45'
» FSBP4045 Bend Plain 40/45' FSDJP50875 | Free. Soil Doub. Junc. 50/45'
FSBP5045 Bend Plain 50/45'

Bend Access 87.5'

| |

CODE DESCRIPTION
SSR40 Socket Single Rubber 40 4
SSRS0 Socket Single Rubber 50 =
FSSIAL087S ingle Junc. Access
f ’ FSBA40875 Bend Access 40/87.5' 40/87.5'

i FSBA50875 Bend Access 50/87.5' FSSJA50875 :i(;I/g;;Jsllmc. Access
CODE DESCRIPTION i -
FSMA4011/4 | Male Adp. 40/1 1/4" % i?ﬁ\
FSMA4011/2 | Male Adp. 40/1 1/2" : !
FSMA5011/4 Male Adp. 50/1 1/4" CODE DESCRIPTION CODE DESCRIPTION
FSMA5011/2 | Male Adp. 50/1 1/2" FSBA4045 Bend Access 40/45' FSSIA4045 Single Junc. Access 40/45'
FSMAS502 Male Adp. 50/2" FSBA5045 Bend Access 50/45' FSSJA5045 Single Junc. Access 50/45'

LTER
el

INEERING
RICA




Stop Ends Plain FEM.

'I

CODE DESCRIPTION
FSSEPF40 Stop End Plain FEM. 40
FSSEPF50 Stop End Plain FEM. 50

Stop End Access

CODE DESCRIPTION
FSSEA40 Stop End Access 40
FSSEAS0 Stop End Access 50

Stop Ends Plain FEM.

>

CODE DESCRIPTION
FSSEPF40 Stop End Plain FEM. 40
FSSEPF50 Stop End Plain FEM. 50

Stop Ends Plain Male

|

CODE DESCRIPTION
FSSEPF40 Stop End Plain Male 40
FSSEPF50 Stop End Plain Male 50

Saddle Strap 110 87.5

.

)

DESCRIPTION
Saddle Strap 110/40/87.5

CODE
FSS511040875
FSS511050875

Saddle Strap 110/50/87.5
Holder Bats PVC

1

& ;
i
CODE DESCRIPTION
HBPVC40 Holder Bats PVC 40
HBPVC50 Holder Bats PVC 50
HBPVC110 Holder Bats PVC 50

Holder Bats Aluminium

CODE DESCRIPTION

HBALU40 Holder Bats ALU 40
HBALUS0 Holder Bats ALU 50
HBALU110 Holder Bats ALU 50

Vent Valve One Way

CODE
VVOWAY50 Vent Valve One Way 50

Vent Valve Two Way

DESCRIPTION

CODE DESCRIPTION
VVTWAY50 Vent Valve Two Way 50
Vent Cowls
’ LY
Ty
CODE DESCRIPTION
VC50 Vent Cowls 50

Boss Connector

“-.____-

DESCRIPTION

CODE
BC11090

Boss Connector

LTER
INEERING
RICA







Freeflow Soil and Vent Fitting Big

S+V Pipe Plain 6mtr

PY
[ Al
»” -
'
CODE DESCRIPTION
SVPP675 S+V Pipe Plain 75 6mtr
SVPP6110 S+V Pipe Plain 110 émtr
SVPP6160 S+V Pipe Plain 160 6mtr

Socket Single Rubber
-

]

CODE DESCRIPTION
SSR110

Socket Single Rubber 110

Socket Double Rubber

J|

CODE DESCRIPTION
SDR110

Socket Double Rubber 110

Eccentric Reducer

I

CODE DESCRIPTION
ER11050 Socket Single Rubber 110

Bend Plain 87.5'
-0

&

CODE DESCRIPTION

Bend Plain 110/87.5'

FSBP110875

Bend Plain 45'

L)I

CODE DESCRIPTION
FSBP11045 Bend Plain 110/45'

Bend Access 87.5'

aI

CODE DESCRIPTION
FSBA110875 | Bend Acc. 110/87.5'

Bend Access 45' Double Junction Access 110/45'
. And >
CODE DESCRIPTION CODE DESCRIPTION
FSBA11045 Bend Acc. 110/45' FSDJA11045 | Doub. Junc. Acc. 110/45'

Single Junction Plain 87.5'

w.l'l

Single Junction Plain Redu. 110/87.5'

CODE DESCRIPTION

CODE DESCRIPTION

FSSJP110875 | Single Junc. Plain 110/87.5'

Single Junction Plain 45'

v
%
; |

CODE DESCRIPTION

FSSJIP11040 | Single Junc. Plain 110/40/87.5'

FSSJIP11050 | Single Junc. Plain 110/50/87.5'

Single Junction Plain Redu. 110/45'

?'}x

FSSJA11045 Single Junc. Plain 110/45'

Single Junction Access 87.5'

CODE DESCRIPTION
FSSJIA110875 | Single Junc. Acc. 110/87.5'

Single Junction Access 45'

e

LI

CODE DESCRIPTION
FSSJIA110875 | Single Junc. Acc. 110/45'

Double Junction Plain 87.5'

N '

_3
CODE DESCRIPTION
FSDJP110875| Doub. Junc. Plain 110/87.5'

IJ|

Double Junction Plain 110/45'

Y

CODE DESCRIPTION
FSDJP11045

Doub. Junc. Plain 110/45'

Double Junction Access 87.5'

|

. - u

CODE DESCRIPTION

FSDJA110875| Doub. Junc. Acc. 110/87.5'

CODE DESCRIPTION
FSSJP11040 Single Junc. Plain 110/50/845

Single Junction Access Redu. 87.5'

0l —
s

CODE DESCRIPTION

Doub. Junc. Acc. Red.
110/50/87.5'

FSSJA11050875

Single Junction Access Redu. 45'

off 22>
CODE DESCRIPTION
Single Junc. Acc. Red.
FSDJA1105045 110/50/45'

Double Junction plain Redu. 87.5'

CODE DESCRIPTION

Doub. Junc. Plain Red.
110/50/87.5'

Double Junction Plain Redu. 45'

FSDJP11050875

Ld
CODE DESCRIPTION

Doub. Junc. Plain Red.
FSDJP1105045 110/50/45'

ATER
el

INEERING
RICA




Double Junction Access Redu. 87.5'

Pan Connector Bend Access 90'

Vent Valve Two Way

Double Junction Access Redu. 45'

CODE

DESCRIPTION

FSDJA1105045

Double Junc. Acc. Red.
110/50/45'

Pan Connector Straight Plain

CODE

DESCRIPTION

PCSP110

Pan Connector Straight
Plain 110

Pan Connector Bend Plain 90'

‘._

CODE

DESCRIPTION

PCBP11090

Pan Conne. Bend Plain
110/90'

LTER
el

INEERING
RICA

Y
v i
CODE DESCRIPTION CODE DESCRIPTION CODE DESCRIPTION
Double Junc. Acc. Red. Pan Conne. Bend Access VVTW110 Vent Valve Two Way 110
FSDJA11050875 110/50/87.5' PCBA911090 110/90'

Fle/ible Pan Connector

CODE DESCRIPTION
FPC110 Fle/ible Pan Conne. 110
Bend Vent Horn Access 87.5

ﬂl
( |

Stop End Plain FEM.

DESCRIPTION
Stop End Plain FEM. 110

CODE
SEPF110

Stop End Plain Male

Overflow Cap Access

'- |

CODE DESCRIPTION
OFCA110 Overflow Cap access 110
Vent Cowls
[ - -
CODE DESCRIPTION
VC110 Vent Cowls 110

CODE DESCRIPTION CODE DESCRIPTION
Bend Vent Horn Access SEPM110 Stop End Plain Male 110
BVHA110875 110/87.5'

Stop End Acces

CODE
SEA110

DESCRIPTION

Stop End Access 110







UD Fitting and Pipes 1&2

D.D. Normal Duty Plain 6mtr

CODE DESCRIPTION
CODE DESCRIPTION
DDNDP1106 D.D. Pipe N. Duty Plain 110

)
')

D.D. ABC Rodding Eye 90'

CODE DESCRIPTION
DDABCRE11090
DDABCRE16090

D.D. ABC Rodding Eye 110/90'

D.D. ABC Rodding Eye 160/90'

D.D. ABC Rodding Eye 45'

N

D.D. Heavy Duty Socket 6mtr

2 g
\7

-
CODE DESCRIPTION
DDHDS1106 D.D Pipe H. Duty Socketed 110
DDHDS1606 D.D Pipe H. Duty Socketed 160
DDHDS2006 D.D. Pipe H. Duty Socketed 200
DDHDS2506 D.D. Pipe H. Duty Socketed 250

D.D. Socket Single

..4/‘

CODE DESCRIPTION

DDS110 D.D. Socket 110
D.D. Double Socket 6mtr

)‘
.‘

CODE DESCRIPTION
DDDS110

D. D. Double Socket 110

D.D. Inspection Pipe

-

L

-
CODE DESCRIPTION

DDIP110
DDIP160

D.D. Inspection Pipe 110

D.D. Inspection Pipe 160

LTER
e d

INEERING
RICA

30

CODE DESCRIPTION CODE DESCRIPTION
CODE DESCRIPTION DDABCRE11045 D.D. ABC Rodding Eye 110/45'
DDNDS1106 D.D. Pipe N. Duty Socket 110 DDABCRE16045 D.D. ABC Rodding Eye 160/45'
DDNDS1606 D.D. Pipe N. Duty Socket 160
DDNDS2006 D.D. Pipe N. Duty Socket 200
DDNDS2506 D.D. Pipe N. Duty Socket 250 ; -H
-

CODE DESCRIPTION
DDBP11090

D.D. Bend Plain 110/90'

D.D. Bend Plain 45'

4 ‘

CODE DESCRIPTION
DDBP11045

D.D. Bend Plain 110/45'

D.D. Bend Plain 22.5'

CODE DESCRIPTION

DDBP110225 D.D. Bend Plainb110/22.5'

D.D. ADAP PVC/EW/AC'

CODE DESCRIPTION
DDAPVCEWAC110 | D.D ADAP PVC/EW/AC 110
DDAPVCEWAC160 | D.D ADAP PVC/EW/AC 160

D.D. Bend Access 90'

<
CODE DESCRIPTION
DDBA11090

D.D. Bend Access 110/90'




D.D. Bend Access 45'

ii;ff
CODE DESCRIPTION
DDBA11045

— |

D.D. Bend Access 110/45'
D.D. FEM. End Cap plain

l ‘\

CODE DESCRIPTION

DDFEP110 D.D. FEM. End Cap 110
DDFEP160 D.D. FEM. End Cap 160
DDFEP200 D.D. FEM. End Cap 200

D.D. Male End Cap plain

(‘

CODE DESCRIPTION
DDMEP110

D.D. Male End Cap 110

D.D. Junction Plain 90'

j‘

CODE DESCRIPTION

DDJP11090 D.D. Junction Plain 110/90
DDJP16090 D.D. Junction Plain 160/90
DDJP20090 D.D. Junction Plain 200/90

D.D. Junction Plain 45'

'.";\

CODE DESCRIPTION

DDJP11045 D.D. Junction Plain 110/45
DDJP16045 D.D. Junction Plain 160/45
DDJP20045 D.D. Junction Plain 200/45

D.D. Junction Reduce Plain 90'

CODE DESCRIPTION
DDJP16011090

D.D. Junction Red. Plain 160/110/90

D.D. Junction Reduce Plain 45'

CODE DESCRIPTION

DDJP16011045 D.D. Junction Red. Plain 160/110/45
DDJP20011045 D.D. Junction Red. Plain 160/110/45
DDJP16011045 D.D. Junction Red. Plain 160/110/45

D.D. Junction Access Right 45'

CODE DESCRIPTION

DDJAR16011045 D.D. Junc. Acc. Right 160/110/45
DDJAR20011045 D.D. Junc. Acc. Right 160/110/45
DDJAR16011045 D.D. Junc. Acc. Right 160/110/45

D.D. Junction Access Left 45'

‘

CODE DESCRIPTION

DDJAL16011045 D.D. Junc. Acc. Left 160/110/45
DDJAL20011045 D.D. Junc. Acc. Left 160/110/45
DDJAL16011045 D.D. Junc. Acc. Left 160/110/45

D.D. Junction Reduce Access Right 45'
-

_1\

CODE DESCRIPTION

DDJAR16011045 D.D. Junction Red. Access Right 160/110/45
DDJAR20011045 D.D. Junction Red. Access Right 160/110/45
DDJAR16011045 D.D. Junction Red. Access Right 160/110/45

D.D. Junction Reduce Access Left 45'

(&

<

DDJAR16011045 D.D. Junction Red. Access Left 160/110/45
DDJAR20011045 D.D. Junction Red. Access Left 160/110/45
DDJAR16011045 D.D. Junction Red. Access Left 160/110/45

ATER
el

INEERING
RICA




CAST IRON FITTINGS

Q'O?"O‘dé
&@ Q'O-M-




CAST IRON FITTINGS

CIRS11075 | C.1. Redu. SOCKET 110/75
CIRS11090 | C.I. Redu. SOCKET 110/90
CRIS11075 | C.1. Redu. SOCKET 160/75
CODE DESCRIPTION CODE DESCRIPTION CIRS16090 C. I Redu. SOCKET 160/90
CIRB6350 C. 1. Redu. BUSH 63/50 CIHT9080 C. 1. HYDRANT TEE 90/80 CIRS160110 | C.I.Redu. SOCKET 160/110
CIRB7550 C. 1. Redu. BUSH 75/50 CIHT9080 C. 1. HYDRANT TEE 90/80 CIRS200110 | C.I. Redu. SOCKET 200/110
CIRB7563 C. 1. Redu. BUSH 75/63 CIHT11080 | C.1. HYDRANT TEE 110/80 CIRS200160 | C.I.Redu. SOCKET 200/160
CIRB9063 C. 1. Redu. BUSH 90/63 CIHT16080 C. 1. HYDRANT TEE 160 /80 CIRS250160 | C.I.Redu. SOCKET 250/160
CIRB9075 C. 1. Redu. BUSH 90/75 CIHT20080 C. 1. HYDRANT TEE 200 / 80 CIRS250200 | C. . Redu. SOCKET 250/200
CIRB11063 | C.I.Redu. BUSH 110/63 CIHT25080 | C.1. HYDRANT TEE 250/80
CIRB11075 | C.I.Redu. BUSH 110/75
CIRB11090 | C.I.Redu. BUSH 110/90
CIRB16090 | C.I.Redu. BUSH 160/90
CIRB160110 | C.I. Redu. BUSH 160/110
CIRB200110 | C.I. Redu. BUSH 200/110 e SR
CIRB200160 | C.I. Redu. BUSH 200/160 CIT90E50 C. 1. TEE 90' EQUAL 50 CODE DESCRIPTION
CIRB250160 | C.I.Redu. BUSH 250/160 CIT90E63 C. 1. TEE 90, EQUAL 63 CIEC50 C.1. END CAP 50
CIRB250200 | C.I.Redu. BUSH 250/200 CIT90E7S C. 1. TEE 90, EQUAL 75 CIEC63 C. 1. END CAP 63
CIT90E90 C. 1. TEE 90, EQUAL 90 CIEC75 C.1. END CAP 75
CIT90E110 | C.I.TEE 90' EQUAL 110 CIEC0 C. I END CAP 30
CIT90E160 | C.I.TEE 90' EQUAL 160 CIEC110 C.I.ENDCAP 110
CIT90E200 | C.I.TEE 90' EQUAL 200 CIEC160 C. 1. END CAP 160
CODE DESCRIPTION CIT90E250 | C. 1. TEE 90' EQUAL 250 CIEC200 C.1. END CAP 200
CIRT7550 C. 1. Redu. TEE 75/50 CIT90E315 | C.I.TEE 90' EQUAL 315 CIEC250 C.1. END CAP 250
CIRT7563 C. 1. Redu. TEE 75/63 CIEC315 C. I END CAP 315
CIRT9063 C. 1. Redu. TEE 90/63
CIRT9075 C. 1. Redu. TEE 90/75
CIRT11063 | C.I.Redu. TEE 110/63
CIRT11075 | C.I.Redu. TEE 110/75 — T
CIRT11090 | C.|. Redu. TEE 110/90 CISTF110100 | C. 1. SC. TEE FLANGE 100/100
CIRT16090 | C.1. Redu. TEE 160/90 CISTF160100 | C. 1. SC. TEE FLANGE 160/100 CODE DESCRIPTION
CIRT160110 | C.I.Redu. TEE 160/110 CISTF200100 | C.1. SC. TEE FLANGE 200/200 CIFA5050 C. I. FLANGE ADAP 50/50
CIRT160110 | C.1. Redu. TEE 160/110 CISTF250100 | C. 1. SC. TEE FLANGE 250/100 CIFA6365 C. I FLANGE ADAP 63/65
CIRT20090 | C.1. Redu. TEE 200/90 CISTF315100 | C.1.SC. TEE FLANGE 315/100 CIFA7580 C. 1. FLANGE ADAP 75/80
CIRT200110 | C.I.Redu. TEE 200/110 CIFA9080 C. I. FLANGE ADAP 90/80
CIRT200160 | C.I.Redu. TEE 200/160 CIFA11100 | C.1. FLANGE ADAP 110/100
CIRT250160 | C.I.Redu. TEE 250/160 CIFA160150 | C. 1. FLANGE ADAP 160/150
CIRT315160 | C.I.Redu. TEE 315/160 CIFA200200 | C. 1. FLANGE ADAP 200/200
CIRT315200 | C.I.Redu. TEE 315/200 p— e CIFA250250 | C.1. FLANGE ADAP 250/250
CIRT315250 | C.I.Redu. TEE 315/250 CIRS6350 C. 1. Redu. SOCKET 63/50 CIFA315300 | C.I. FLANGE ADAP 315/300
CIRS7563 C. I. Redu. SOCKET 75/63
CIRS9063 C. I. Redu. SOCKET 90/63
CIRS9075 C. I. Redu. SOCKET 90/75

ATER
el

INEERING
RICA




CAST IRON REPAIR COUPLING C.1. SAD. CL. FOR AC
CISCFAC125112 | e 1) /o0
C.1. SAD. CL. FOR AC
CISCFAC1501 150/10
C. 1. SAD. CL. FOR AC
CISCFAC1S0112 | io i) o0
CODE DESCRIPTION CISCAC2001 563/51/-'\'& CL. FOR AC
CIRC63 C. 1. REPAIR COUPLING 63 AT
CIRC75 C. I. REPAIR COUPLING 75 CISCFAC200112 | 01 1/2n
CIRC90 C. I. REPAIR COUPLING 90 CAST IRON SADDLE CLAMP FOR PVC
CIRC110 C. 1. REPAIR COUPLING 160
CIRC160 C. 1. REPAIR COUPLING 110 O
CIRC200 C. 1. REPAIR COUPLING 160
CIRC250 C. 1. REPAIR COUPLING 200
CIRC315 C. 1. REPAIR COUPLING 315
CODE DESCRIPTION
CAST IRON ABC CLEANING EYE 45'
CISCRPVCE31 C.1. SAD. CL. FOR PVC
63/1
C.1. SAD. CL. FOR PVC
CISCFPVCE3112 | (77
C. 1. SAD. CL. FOR PVC
CISCFPVC751 i
C.1. SAD. CL. FOR PVC
CISCFPVC75112 | o/,
CODE DESCRIPTION
CISCEPVCI01 C.1. SAD. CL. FOR PVC
CIABCCE10045 | C.I. ABC CL. EYE 100 45' 90/1"
CIABCCE15045 | C.I. ABC CL. EYE 150 45' CISCEPVC90112 C.1. SAD. CL. FOR PVC
90/1 1/2"
CAST IRON ABC CLEANING EYE 90 C. 1. SAD. CL. FOR PVC
CISCFPVC1101 .
110/1
C.1. SAD. CL. FOR PVC
CISCFPVC110112| 1) 0%
C.1. SAD. CL. FOR PVC
CISCFPVC1601 | oo,
C. 1. SAD. CL. FOR PVC
CISCFPVC160112| o™
CODE DESCRIPTION CISCEPVC2001 (Zzbg/sl/io, CL. FOR PVC
CIABCCE10090 | C.1. ABC CL. EYE 100/90' T
CIABCCE15090 | C. 1. ABC CL. EYE 150/90' CISCFPVC200112| 01 1 /o0

CAST IRON SADDLE CLAMP FOR AC

FULL BORE DOME GRADE/PVC ADAP

LTER
el

INEERING
RICA

CODE DESCRIPTION CODE DESCRIPTION
CISCFAC501 C. 1. SAD CL. FOR AC 50/1" FBDGPA8090 ;J,Ié i%iizg}\gg,GRATE/
CISCFACS01/2 (s:bl/ﬁsf/Dz'"CL FOR AC FBDGPABOLE0 El\,|/|(|: BORE L;(gx; OCIERATE/
CISCFACT51 %'/'ls,,AD' CL.FORAC raoGpatooss | Ul BORE [igxis(?RATE/
CISCFAC75112 %l/.lsi\/[;"a. FOR AC reoGPatooso | "I BORE EigxgogRATE/
CISCFAC1001 (1:68 /sﬁD' el FORAC FBDGPA100180 E‘\‘/'é i%ii?gmig.‘mw
CISCFAC100112 56'6 /SlA?/‘ZC.,L' FORAC FBDGPA15090 E;'é 'Z%'Zi [ig(';/l/SOG' RATE/
ascraci2st | Do /Sl’fD' CL.FORAC raDGPALsO180 | Ul BORE E;gxisc;rfATE/

FULL BORE FLAT GRADE/PVC ADAP

CODE DESCRIPTION
FBFGPAS090 Et’/ELABSA F:’Es%//;TO'G RATE/
FBFGPAS0180 E%LAB&F;E FLAT GRATE/
FBFGPA10045 Eg(I.ILABDOA';E FLAT GRATE/
FBFGPA10090 E%LAB&F;E FLAT GRATE/
FBFGPA100180 E%LAE:)%E FLAT GRATE/
FBEGPA15090 E%LABD%E FLAT GRATE/
carGpALS0180 | FULL BORE FLAT GRATE/

CAST IRON SHORT COLLAR

LY

PVC ADAP

CODE DESCRIPTION
|G,
wn | o,
|G,
o | cnar,
CISC200 CAST IRON SHORT

CAST IRON LONG COLLAR

COLLAR 200 (234 OD)

CODE DESCRIPTION
CAST IRON LONG
CILC75 COLLAR COLLAR 75
CAST IRON LONG
ClLc100 COLLAR COLLAR 100
ILe1so CAST IRON LONG

COLLAR COLLAR 150







Galvanised Pipes and Fittings

GALVRP25300 Galv. riser pipe 25/300
GALVRP25500 Galv. riser pipe 25/500
GALVRP25600 Galv. riser pipe 25/600
GALVRP251000 Galv. riser pipe 25/1000
GALVRP32300 Galv. riser pipe 32/300
GALVRP32500 Galv. riser pipe 32/500
GALVRP32600 Galv. riser pipe 32/600
GALVRP321000 Galv. riser pipe 32/1000
CODE DESCRIPTION
GALVRP40300 Galv. riser pipe 40/300
GALVP156692 Galv. pipe 15/6m 6.92kg
GALVRP40500 Galv. riser pipe 40/500
GALVP206891 Galv. pipe 20/6m 8.91kg
GALVRP40600 Galv. riser pipe 40/600
GALVP251365 Galv. pipe 25/6m 13.65kg
GALVRP401000 Galv. riser pipe 40/1000
GALVP3261746 Galv. pipe 32/6m 17.46kg
GALVRP50300 Galv. riser pipe 50/300
GALVP4061988 Galv. pipe 40/6 19,88kg
GALVRP50500 Galv. riser pipe 50/500
GALVP5062828 Galv. pipe 50/6m 28,28kg
- GALVRP50600 Galv. riser pipe 50/600
GALVP6563613 Galv. pipe 65/6 36,13kg
- GALVRP501000 Galv. riser pipe 50/1000
GALVP8064606 Galv. pipe 80/6m 46,06kg
- GALVRP65300 Galv. riser pipe 65/300
GALVP1006609 Galv. pipe 100/6m 66,09kg
- GALVRP65500 Galv. riser pipe 65/500
GALVP150610347 Galv. pipe 150/6m 103,47kg
GALVRP65600 Galv. riser pipe 65/600
Galvanised e/act pipe 3m - -
GALVRP65100 Galv. riser pipe 65/1000
GALVRP80300 Galv. riser pipe 80/300
GALVRP80500 Galv. riser pipe 80/500
GALVRP80600 Galv. riser pipe 80/600
GALVRP801000 Galv. riser pipe 80/1000
GALVEP323892 Galv. e/act pipe 32/3m 8,92kg GALVRP801500 Galv. riser pipe 80/1500
GALVEP4031017 Galv. e/act pipe 40/3m 10,17kg GALVRP802000 Galv. riser pipe 80/2000
GALVEP5031446 Galv. e/act pipe 50/3m 14,46kg GALVRP100300 Galv. riser pipe 100/300
GALVEP6531886 Galv. e/act pipe 65/3m 18,86kg GALVRP100500 Galv. riser pipe 100/500
GALVEP8032369 Galv. e/act pipe 80/3m 23,69kg GALVRP100600 Galv. riser pipe 100/600
GALVEP10033424 Galv. e/act pipe 100/3 34,24kg GALVRP1001000 Galv. riser pipe 100/1000
Galvanised riser pipe 15-150 GALVRP150300 Galv. riser pipe 150/300
GALVRP1501000 Galv. riser pipe 150/1000
. ) Trafic light DOM black pipe 114
CODE DESCRIPTION
GALVRP15300 Galv. riser pipe 15/300
GALVRP15500 Galv. riser pipe 15/500
GALVRP15600 Galv. riser pipe 15/600 el pCR QIO
GALVRP151000 Galv. riser pipe 15/1000 Tldombp1146 Trafic Light "DOM" Black pipe 114/6m
GALVRP20300 Galv. riser pipe 20/300
GALVRP20500 Galv. riser pipe 20/500
GALVRP20600 Galv. riser pipe 20/600
GALVRP201000 Galv. riser pipe 20/1000

LTER
INEERING
RICA




GAVS20 | Galv. Socket 20
GALVS25 Galv. Socket 25
GALVS32 Galv. Socket 32
GALVS40 Galv. Socket 40 -
CODE DESCRIPTION GALVS50 Galv. Socket 50 CODE DESCRIPTION
PCl5 Pipe Cutting 15 GALVS65 Galv. Socket 65 Galvu1s Galv. Union 15
PC20 Pipe Cutting 20 GALVS80 Galv. Socket 80 Galvu20 Galv. Union 20
PC25 Pipe Cutting 25 GALVS100 Galv. Socket 100 Galvu2s Galv. Union 25
PC32 Pipe Cutting 32 GALVS150 Galv. Socket 150 Galvu32 Galv. Union 32
PC40 Pipe Cutting 40 Galvu40 Galv. Union 40
PC50 Pipe Cutting 50 Galvu50 Galv. Union 50
PC65 Pipe Cutting 65 Galvu65 Galv. Union 65
PC80 Pipe Cutting 80 Galvu80 Galv. Union 80
PC100 Pipe Cutting 100 CODE DESCRIPTION Galvul00 Galv. Union 100
PC150 Pipe Cutting 150 GALVE6 Galv. Elbow 6 Galvul50 Galv. Union 150
GALVE10 Galv. Elbow 10
= é GALVE15 Galv. Elbow 15
oy GALVE20 Galv. Elbow 20
CODE DESCRIPTION GALVE25 Galv. Elbow 25 CODE DESCRIPTION
PTHR15 Pipe Threading 15 GALVE32 Galv. Elbow 32 galvep6 Galv. End Plug 6
PTHR25 Pipe Threading 25 GALVE40 Galv. Elbow 40 galvep8 Galv. End Plug 8
PTHR32 Pipe Threading 32 GALVESO Galv. Elbow 50 galvep10 Galv. End Plug 10
PTHR40 Pipe Threading 40 GALVE6S Galv. Elbow 65 galvep15 Galv. End Plug 15
PTHRS0 Pipe Threading 50 GALVESO Galv. Elbow 80 galvep20 Galv. End Plug 20
PTHR65 Pipe Threading 65 GALVE100 | Galv. Elbow 100 galvep25 Galv. End Plug 25
PTHR80 Pipe Threading 80 GALVE1S0 | Galv. Elbow 150 galvep32 Galv. End Plug 32
PTHR100 Pipe Threading 100 galvep40 Galv. End Plug 40
PHR150 Pipe Threading 150 1 galvep50 Galv. End Plug 50
&—i galvep65 Galv. End Plug 65
galvep80 Galv. End Plug 80
CODE DESCRIPTION galvep100 Galv. End Plug 100
GALVT6 Galv. Tee 6 galvep150 Galv. End Plug 150
CODE DESCRIPTION GALVT8 Galv. Tee 8
BC52THICK Boreh. cas. 5"/2 thicknes GALVT10 Galv. Tee 10
BC62THICK Boreh. cas. 6"/2 thicknes GALVT15 Galv. Tee 15
BC6122THICK | Boreh. cas. 6 1/2"/2 thicknes GALVT20 Galv. Tee 20
BC82THICK | Borehole cas. 8"/2 thicknes GALVT25 Galv. Tee 25 CODE DESCRIPTION
GALVT32 Galv. Tee 32 galvec15 Galv. End Cap 15
GALVT40 Galv. Tee 40 galvec20 Galv. End Cap 20
GALVTS0 Galv. Tee 50 galvec25 Galv. End Cap 25
GALVTE5 Galv. Tee 65 galvec32 Galv. End Cap 32
GALVT80 Galv. Tee 80 galvec40 Galv. End Cap 40
el BEcCEgION GALVT100 | Galv. Tee 100 galvecso Galv. End Cap 50
GALVSE Galv. Socket 6 GALVTI50 | Galv. Tee 150 galvecss Galv. End Cap 65
GALVSS Galv. Socket 8 galvec80 Galv. End Cap 80
GALVS10 Galv. Socket 10 galvec100 Galv. End Cap 100
GALVS15 Galv. Socket 15

ATER
el

INEERING
RICA




Galv. Bend M/F 8-100 Galv. Johnson Coupling 15-50 Galv. redu. bush 8-100

LTER
el

INEERING
RICA

-—
L
CODE DESCRIPTION CODE DESCRIPTION
GALVBMF890 Galv. Bend M/F 8/90' GALVIC15 Galv. Johnson coupling 15
_ CODE DESCRIPTION
GALVBMF1090 | Galv. Bend M/F 10/90' GALVIC20 Galv. Johnson coupling 20
- GALVRB0806 Galv. redu. bush 08/06
GALVBMF1590 | Galv. Bend M/F 15/90' GALVIC25 Galv. Johnson coupling 25
- GALVRB1008 Galv. redu. bush 10/08
GALVBMF2090 | Galv. Bend M/F 20/90' GALVIC32 Galv. Johnson coupling 32
- GALVRB1508 Galv. redu. bush 15/08
GALVBMF2590 | Galv. Bend M/F 25/90' GALVIC40 Galv. Johnson coupling 40
- GALVRB1510 Galv. redu. bush 15/10
GALVBMF3290 | Galv. Bend M/F 32/90' GALVIC50 Galv. Johnson coupling 50
GALVRB2008 Galv. redu. bush 20/08
GALVBMF4090 | Galv. Bend M/F 40/90' Galv. Bend M/F 45' 15-100
GALVRB2010 Galv. redu. bush 20/10
GALVBMF5090 | Galv. Bend M/F 50/ 90'
GALVRB2015 Galv. redu. bush 20/15
GALVBMF6590 | Galv. Bend M/F 65/ 90'
GALVRB2515 Galv. redu. bush 25/15
GALVBMF8090 | Galv. Bend M/F 80/ 90'
GALVRB2520 Galv. redu. bush 25/20
GALVBMF100 Galv. Bend M/F 100/90'
| b / GALVRB3215 Galv. redu. bush 32/15
Galv. Elbow M/F 15-100
GALVRB3220 Galv. redu. bush 32/20
CODE DESCRIPTION GALVRB3225 Galv. redu. bush 32/25
GALVBMF1545 | Galv. Bend M/F 15/45' GALVRB4015 Galv. redu. bush 40/15
p— p— GALVBMF2045 | Galv. Bend M/F 20/45' GALVRB4020 Galv. redu. bush 40/20
AV 1550 | Gare Elbom MIF 15750 GALVBMF2545 | Galv. Bend M/F 25/45' GALVRB4025 Galv. redu. bush 40/25
alv. Elbow
Avemr2050 | Gare Eloom M/ 20/50 GALVBMF3245 | Galv. Bend M/F 32/45' GALVRB4032 Galv. redu. bush 40/32
alv. Elbow
avem2590 | Corm Eloom W 23/50 GALVBMF4045 | Galv. Bend M/F 40/45' GALVRB5015 Galv. redu. bush 50/15
alv. Elbow
a9 | Com Eloom i 32750 GALVBMF5045 | Galv. Bend MJ/F 50/45' GALVRB5020 Galv. redu. bush 50/20
alv. Elbow
cnvema090 | Gom Eloom W 40750 GALVBMF6545 | Galv. Bend M/F 65/45' GALVRB5025 Galv. redu. bush 50/25
alv. Elbow
Averre000 | ca £ M 50/50 GALVBMF8045 | Galv. Bend M/F 80/45' GALVRB5032 Galv. redu. bush 50/32
alv. Elbow
GALVBMF10045 | Galv. Bend M/F 100/45' GALVRB5040 | Galv. redu. bush 50/40
Galv. Holderbat 15-100 ’ ’
GALVEMF8090 | Galv. Elbow M/F 80/90' GALVRB6525 Galv. redu. bush 65/25
GALVEMF10090 | Galv. Elbow M/F 100/90' GALVRB6532 Galv. redu. bush 65/32
Galv. cross 15-100 GALVRB6540 | Galv. redu. bush 65/40
GALVRB6550 Galv. redu. bush 65/50
GALVRB8025 Galv. redu. bush 80/25
GALVRB8040 Galv. redu. bush 80/40
CODE DESCRIPTION CODE DESCRIPTION GALVRB8050 | Galv. redu. bush 80/50
GALVC16 Galv. cross 15 GALVHB15 Galv. Holderbat 15 GALVRB8065 | Galv. redu. bush 80/65
GALVC20 Galv. cross 20 GALVHB20 Galv. Holderbat 20 GALVRB10025 | Galv. redu. bush 100/25
GALVC25 Galv. cross 25 GALVHB25 Galv. Holderbat 25 GALVRB10040 | Galv. redu. bush 100/40
GALVC32 Galv. cross 32 GALVHB32 Galv. Holderbat 32 GALVRB10050 | Galv. redu. bush 100/50
GALVC40 Galv. cross 40 GALVHBA40 Galv. Holderbat 40 GALVRB10065 | Galv. redu. bush 100/65
GALVC50 Galv. cross 50 GALVHB50 Galv. Holderbat 50 GALVRB10080 | Galv. redu. bush 100/80
GALVC65 Galv. cross 65 GALVHB65 Galv. Holderbat 65 GALVRB15050 | Galv. redu. bush 150/50
GALVC80 Galv. cross 80 GALVHB80 Galv. Holderbat 80 GALVRB15080 | Galv. redu. bush 150/80
GALVC100 Galv. cross 100 GALVHB100 Galv. Holderbat 100 GALVRB150100 | Galv. redu. bush 150/100




Galvanised redu. Socket 8-100 Galv. redu. Tee 15-150 Galv. Back Nut 15-50
3

CODE DESCRIPTION CODE DESCRIPTION CODE DESCRIPTION

GALVRS108 Galv. redu. Socket 10/8 GALVRT1508 Galv. Redu. Tee 15/08 GALVBN15 Galv. Back Nut 15
GALVRS1508 Galv. redu. Socket 15/08 GALVRT1510 Galv. Redu. Tee 15/10 GALVBN20 Galv. Back Nut 20
GALVRS1510 Galv. redu. Socket 15/10 GALVRT2010 Galv. Redu. Tee 20/10 GALVBN25 Galv. Back Nut 25
GALVRS2008 Galv. redu. Socket 20/08 GALVRT2015 Galv. Redu. Tee 20/15 GALVBN32 Galv. Back Nut 32
GALVRS2010 Galv. redu. Socket 20/10 GALVRT2515 Galv. Redu. Tee 25/15 GALVBN50 Galv. Back Nut 50
GALVRS2015 | Galv. redu. Socket 20/15 GALVRT2520 | Galv. Redu. Tee 25/20
GALVRS2515 Galv. redu. Socket 25/15 GALVRT3215 Galv. Redu. Tee 32/15

GALVRS2520 Galv. redu. Socket 25/20 GALVRT3220 Galv. Redu. Tee 32/20
GALVRS3215 Galv. redu. Socket 32/15 GALVRT3225 Galv. Redu. Tee 32/25
GALVRT4015 Galv. Redu. Tee 40/15

GALVRS3220 Galv. redu. Socket 32/20

GALVRS3225 Galv. redu. Socket 32/25 GALVRT4020 | Galv. Redu. Tee 40/20 CODE DESCRIPTION
GALVRS4015 Galv. redu. Socket 40/15 GALVRT4025 Galv. Redu. Tee 40/25 GALVBFF9015 | Galv. Bend F/F 90' 15
GALVRS4020 Galv. redu. Socket 40/20 GALVRT4032 Galv. Redu. Tee 40/32 GALVBFF9020 | Galv. Bend F/F 90' 20
GALVRS4025 | Galv. redu. Socket 40/25 GALVRT5015 | Galv. Redu. Tee 50/15 GALVBFF9025 | Galv. Bend F/F 90' 25
GALVRS4032 Galv. redu. Socket 40/32 GALVRT5020 Galv. Redu. Tee 50/20 GALVBFF9032 | Galv. Bend F/F 90' 32
GALVRS5015 Galv. redu. Socket 50/15 GALVRT5025 Galv. Redu. Tee 50/25 GALVBFF9040 | Galv. Bend F/F 90' 40
GALVRS5020 Galv. redu. Socket 50/20 GALVRT5032 Galv. Redu. Tee 50/32 GALVBFF9050 | Galv. Bend F/F 90' 50
GALVRS5020 Galv. redu. Socket 50/25 GALVRT5040 Galv. Redu. Tee 50/40 GALVBFF9065 | Galv. Bend F/F 90' 65
GALVRS5032 Galv. redu. Socket 50/32 GALVRT6520 Galv. Redu. Tee 65/20 GALVBFF9080 | Galv. Bend F/F 90' 80
GALVRS5040 Galv. redu. Socket 50/40 GALVRT6525 Galv. Redu. Tee 65/25 GALVBFF90100 | Galv. Bend F/F 90' 100
GALVRS6520 Galv. redu. Socket 65/20 GALVRT6532 Galv. Redu. Tee 65/32
GALVRS6525 Galv. redu. Socket 65/25 GALVRT6540 Galv. Redu. Tee 65/40

GALVRS6532 Galv. redu. Socket 65/32 GALVRT6550 Galv. Redu. Tee 65/50

GALVRS6540 Galv. redu. Socket 65/40 GALVRT8025 Galv. Redu. Tee 80/25

GALVRS6550 Galv. redu. Socket 65/50 GALVRT8032 Galv. Redu. Tee 80/32

GALVRS8025 Galv. redu. Socket 80/25 GALVRT8040 Galv. Redu. Tee 80/40 CODE DESCRIPTION
GALVRS8040 Galv. redu. Socket 80/40 GALVRT8050 Galv. Redu. Tee 80/50 GALVSAD15 Galv. Saddle 15
GALVRS8040 Galv. redu. Socket 80/50 GALVRT8065 Galv. Redu. Tee 80/65 GALVSAD20 Galv. Saddle 20
GALVRS8050 Galv. redu. Socket 80/65 GALVRT10040 Galv. Redu. Tee 100/40 GALVSAD25 Galv. saddle 25
GALVRS10040 | Galv. redu. Socket 100/40 GALVRT10050 | Galv. Redu. Tee 100/50 GALVSAD32 Galv. saddle 32
GALVRS10050 | Galv. redu. Socket 100/50 GALVRT10065 | Galv. Redu. Tee 100/65 Galvanised Fablicated Bend T10 50-150
GALVRS10065 | Galv. redu. Socket 100/65 GALVRT10080 | Galv. Redu. Tee 100/80

GALVRS10080 Galv. redu. Socket 100/80 GALVRT150100 | Galv. Redu. Tee 150/100

GALVRS100150 | Galv. redu. Socket 150/100

.

CODE DESCRIPTION

GALVFABBT1050 | Galv. Fabl. Bend T10 50

GALVFABBT1080 | Galv. Fabl. Bend T10 80

GALVFABBT10100 | Galv. Fabl. Bend T10 100

GALVFABBT10150 | Galv. Fabl. Bend T10 150

VATER

INEERING
RICA




Galv. Fablicated Tee T10 80-150 GALVNH40 Galv. Nipple He/ 40
GALVNH50 Galv. Nipple He/ 50
GALVNH65 Galv. Nipple He/ 65
GALVNH80 Galv. Nipple He/ 80
GALVNH100 Galv. Nipple He/ 100
CODE DESCRIPTION
GALVFABTT1080 Galv. Fabricated Tee T10 80
GALVFABTT10100 Galv. Fabricated Tee T10 100
GALVFABTT10150 Galv. Fabricated Tee T10 150
Galv. Fablicated Reducer T10 50-150
CODE DESCRIPTION
GALVNS6 Galv. Nipple Swage 6
GALVNS8 Galv. Nipple Swage 8
GALVNS10 Galv. Nipple Swage 10
GALVNS15 Galv. Nipple Swage 15
CODE DESCRIPTION GALVNS20 Galv. Nipple Swage 20
GALVFRT108050 Galv. Fab. Redu. T10 FBE 80/50 CALYNSIS Galv. Nipple Swage 25
GALVFRT108065 Galv. Fab. Redu. T10 FBE 80/65 CALYNS32 Galv. Nipple Swage 32
GALVFRT1010080 Galv. Fab. Redu. T10 FBE 100/80 GALYNSA0 Galv. Nipple Swage 40
GALVFRT1015080 Galv. Fab. Redu. T10 FBE 150/80 GALVNS50 Galv. Nipple Swage 50
GALVFRT10150100 Galv. Fab. Redu. T10 FBE 150/100 GALVNS6S Galv. Nipple Swage 65
GALVFRT10200150 Galv. Fab. Redu. T10 FBE 200/150 GALVNSSO Galv. Nipple Swage 80
Galv. Nipple Barrel 6-150 GALVNS100 Galv. Nipple Swage 100
GALVNS150 Galv. Nipple Swage 150
-
CODE DESCRIPTION
GALVNB6 Galv. Nipple Barrel 6 A
GALVNB8 Galv. Nipple Barrel 8 )
GALVNB10 Galv. Nipple Barrel 10 CODE DESCRIPTION
GALVNB15 Galv. Nipple Barrel 15 GALVHC6 Galv. Hose connector 6
GALVNB20 Galv. Nipple Barrel 20 GALVHCS8 Galv. Hose connector 8
GALVNB25 Galv. Nipple Barrel 25 GALVHC10 Galv. Hose connector 10
GALVNB32 Galv. Nipple Barrel 32 GALVHC15 Galv. Hose connector 15
GALVNB40 Galv. Nipple Barrel 40 GALVHC20 Galv. Hose connector 20
GALVNBS50 Galv. Nipple Barrel 50 GALVHC25 Galv. Hose connector 25
GALVNB65 Galv. Nipple Barrel 65 GALVHC32 Galv. Hose connector 32
GALVNB8O Galv. Nipple Barrel 80 GALVHC40 Galv. Hose connector 40
GALVNB100 Galv. Nipple Barrel 100 GALVHC50 Galv. Hose connector 50
GALVNB150 Galv. Nipple Barrel 150 GALVHC65 Galv. Hose connector 65
Galv. Nipple Barrel 15-100 GALVHC80 Galv. Hose connector 80
—— GALVHC100 Galv. Hose connector 100
= GALVHC150 Galv. Hose connector 150
CODE DESCRIPTION
GALVNH15 Galv. Nipple He/ 15
GALVNH20 Galv. Nipple He/ 20
GALVNH25 Galv. Nipple He/ 25
GALVNH32 Galv. Nipple He/ 32

V.TER

INEERING
RICA




Galv. Black Nipple 15-100 W/S Black Socket 6-100 Galv. Bolt 12-24

e

—

— =

CODE DESCRIPTION CODE DESCRIPTION CODE DESCRIPTION

GALVBN15 Galvanize Black Nipple 15 wsbs15 W/S Black Socket 15 GALVB1240 Galv. Bolt M12/40
GALVBN20 Galvanize Black Nipple 20 wshs20 W/S Black Socket 20 GALVB1250 Galv. Bolt M12/50
GALVBN25 Galvanize Black Nipple 25 wshs25 W/S Black Socket 25 GALVB1275 Galv. Bolt M12/75
GALVBN32 Galvanize Black Nipple 32 wshs32 W/S Black Socket 32 GALVB1645 Galv. Bolt M16/45
GALVBN40 Galvanize Black Nipple 40 wsbs40 W/S Black Socket 40 GALVB1650 Galv. Bolt M16/50
GALVBNS50 Galvanize Black Nipple 50 wsbs50 W/S Black Socket 50 GALVB1655 Galv. Bolt M16/55
GALVBNG65 Galvanize Black Nipple 65 wsbs65 W/S Black Socket 65 GALVB1665 Galv. Bolt M16/65
GALVBNS8O Galvanize Black Nipple 80 wsbs80 W/S Black Socket 80 GALVB1675 Galv. Bolt M16/75
GALVBN100 Galvanize Black Nipple 100 wsbs100 W/S Black Socket 100 GALVB1680 Galv. Bolt M16/80

qyrr— GALVB16115 | Galv. Bolt M16/115

ATV RN B s GALVB16125 | Galv. Bolt M16/125
AR AL AR
- GALVB16150 | Galv. Bolt M16/150

CODE DESCRIPTION CODE DESCRIPTION GALVB2065 Galv. Bolt M20/65
i i GALVB2075 Galv. Bolt M20/75
GALVNR15 Galv. Nipple running 15 GALVTR121 :\EAall\;/';:;t_arided Rod /
GALVNR20 Galv. Nipple running 20 GALVB2080 | Galv. Bolt M20/80
GALVTR161 Galv. Threaded Rod
GALVNR25 Galv. Nipple running 25 M16/1MTR GALVB2090 | Galv. Bolt M20/90
f i GALVB20115 | Galv. Bolt M20/115
GALVNR32 Galv. Nipple running 32 GALVTR201 sﬂa;\cl)./';:;?r;ded Rod /
GALVNR40 Galv. Nipple running 40 GALVB20120 | Galv. Bolt M20/120
GALVTR241 Galv. Threaded Rod
GALVNR50 Galv. Nipple running 50 M24/1MTR GALVB20140 | Galv. Bolt M20/140
GALVNR65 Galv. Nipple running 65 Galv. U-Bolts 20-65 GALVB20150 | Galv. Bolt M20/150
GALVNR80 Galv. Nipple running 80 - GALVB20180 | Galv. Bolt M20/180
GALVNR100 | Galv. Nipple running 100 GALVB2490 | Galv. Bolt M24/90
GALVNR150 | Galv. Nipple running 150 GALVB24100 | Galv. Bolt M24/100

Galv Socket 6-100 CODE DESCRIPTION GALVB24125 | Galv. Bolt M24/125

GALVB24160 | Galv. Bolt M24/160
GALVUB20 Galv. U-Bolts 20
GALVB24180 | Galv. Bolt M24/180
GALVB24190 | Galv. Bolt M24/190

- GALVUB32 | Galv. U-Bolts 32
CODE DESCRIPTION GALVUB40 | Galv. U-Bolts 40 Galv. Nuts 12-24

GALVUB25 Galv. U-Bolts 25

WSGALVS6 | W/S Galv. Socket 6 GALVUB50 | Galv. U-Bolts 50 N
WSGALVSS | W/S Galv. Socket 8 GALVUB65 | Galv. U-Bolts 65 @2 '~
WSGALVS10 | W/S Galv. Socket 10 GALVUBSO | Galv. U-Bolts 80

WSGALVS15 | W/S Galv. Socket 15 GALVUB100 | Galv. U-Bolts 100 CODE DESCRIPTION

WSGALVS20 | W/S Galv. Socket 20 Galv. Lock Nut 12-16 GALVN12 GALV. NUTS M12

WSGALVS25 | W/S Galv. Socket 25 GALVN16 GALV. NUTS M16

WSGALVS32 | W/S Galv. Socket 32 GALVN20 Galv. Nuts M20
WSGALVS40 | W/S Galv. Socket 40 GALVN24 Galv. Nuts M24
WSGALVS50 | W/S Galv. Socket 50 CODE DESCRIPTION _ ’;3_ {‘

WSGALVS65 | W/S Galv. Socket 65 GAVINI2 | Galv. Lock Nut 12 _ = 3
WSGALVS80 | W/S Galv. Socket 80 GAVINTe | Gar Lok Nut 16 - a
WSGALVS100 | W/S Galv. Socket 100 k 2 -

VATER

INEERING
RICA




Galvanised Washer 12-24

)

- 3
LT #
v y CODE DESCRIPTION
\ # i‘/ GALVSFTD25 Galv. screwed on Flange TD 25 (4 holes)
GALVSFTD32 Galv. screwed on Flange TD 32 (4 holes)
CODE DESCRIPTION GALVSFTD40 Galv. screwed on Flange TD 40 (4 holes)
GALVW12 Galv. Washers M12 GALVSFTD50 Galv. screwed on Flange TD 50 (4 holes)
GALVW16 Galv. Washers M16 GALVSFTD65 Galv. screwed on Flange TD 65 (4 holes)
GALVW20 Galv. Washers M20 GALVSFTD80 Galv. srewed on Flange TD 80 (4 holes)
GALVW24 Galv. Washers M24 GALVSFTD100 Galv. srewed on Flange TD 100 (4 holes)
Galvanised Weld on Flange TD 25-350 GALVSFTD150 Galv. srewed on Flange TD 150 (8 holes)
CODE DESCRIPTION
CODE DESCRIPTION GALVSFT1625 Galv. screwed on Flange T16 25 (4 holes)
GALVWFTD254 Galv. Weld on Flange TD 25 (4 holes) GALVSFT1632 Galv. screwed on Flange T16 32 (4 holes)
GALVWFTD324 Galv. Weld on Flange TD 32 (4 holes) GALVSFT1640 Galv. screwed on Flange T16 40 (4 holes)
GALVWFTDA04 Galv. Weld on Flange TD 40 (4 holes) GALVSFT1650 Galv. screwed on Flange T16 50 (4 holes)
GALVWFTDS04 Galv. Weld on Flange TD 50 (4 holes) GALVSFT1665 Galv. screwed on Flange T16 65 (4 holes)
GALVWFTDE54 Galv. Weld on Flange TD 65 (4 holes) GALVSFT1680 Galv. srewed on Flange T16 80 (8 holes)
GALVWFTDE04 Galv. Weld on Flange TD 80 (4 holes) GALVSFT16100 Galv. srewed on Flange T16 100 (8 holes)
GALVWFTD1004 Galv. Weld on Flange TD 100 (4 holes) GALVSFT16150 Galv. srewed on Flange T16 150 (8 holes)
GALVWFTD1258 Galv. Weld on Flange TD 125 (8 holes)
GALVWFTD1508 Galv. Weld on Flange TD 150 (8 holes)
GALVWFTD2008 Galv. Weld on Flange TD 200 (8 holes)
GALVWFTD2508 Galv. Weld on Flange TD 250 (8 holes) L
GALVWFTD30012 Galv. Weld on Flange TD 300 (12 holes) CODE DESCRIPTION
GALVWFTD35012 Galv. Weld on Flange TD 350 (12 holes) GALVBFTD Galv. Blind Flange TD 50 (4 holes)
GALVBFTD Galv. Blind Flange TD 65 (4 holes)
GALVBFTD Galv. Blind Flange TD 80 (4 holes)
GALVBFTD Galv. Blind Flange TD 100 (4 holes)
GALVBFTD Galv. Blind Flange TD 125 (8 holes)
CODE DESCRIPTION GALVBFTD Galv. Blind Flange TD 150 (8 holes)
GALVWFT1000325 Galv. Weld on Flange T1000/3 25 (4 holes) GALVBFTD Galv. Blind Flange TD 200 (8 holes)
GALVWFT1000332 Galv. Weld on Flange T1000/3 32 (4 holes) <
GALVWFT1000340 Galv. Weld on Flange T1000/3 40 (4 holes) &._ ;ﬁ
GALVWFT1000350 | Galv. Weld on Flange T1000/3 50 (4 holes) 'g;serfl"" 5
GALVWFT1000365 Galv. Weld on Flange T1000/3 65 (4 holes) -
GALVWFT1000380 | Galv. Weld on Flange T1000/3 80 (8 holes) CODE DESCRIPTION
GALVWFT10003100 | Galv. Weld on Flange T1000/3 100 (8 holes) GALVBFT50 Galv. Blind Flange T1000/8 50 (4 holes)
GALVWFT10003125 | Galv. Weld on Flange T1000/3 125 (8 holes) GALVBFT65 Galv. Blind Flange T1000/8 65 (4 holes)
GALVWFT10003150 | Galv. Weld on Flange T1000/3 150 (8 holes) GALVBFT80 Galv. Blind Flange T71000/8 80 (8 holes)
GALVWFT10003200 | Galv. Weld on Flange T1000/3 200 (8 holes) GALVBFT100 Galv. Blind Flange T1000/8 100 (8 holes)
GALVWFT10003250 | Galv. Weld on Flange T1000/3 250 (12 holes) GALVBFT150 Galv. Blind Flange T1000/8 150 (8 holes)
GALVWFT10003300 | Galv. Weld on Flange T1000/3 300 (12 holes) GALVBFT200 Galv. Blind Flange T1000/8 200 (8 holes)
GALVWFT10003350 | Galv. Weld on Flange T1000/3 350 (12 holes) GALVBFT250 Galv. Blind Flange T1000/8 250 (12 holes)

V.TER

INEERING
RICA







Cone/ Copper Coupler

Cone/ Copper Fitting

Cone/ Copper Male ADAP

Cone/ Copper Redu. male Elbow

CODE DESCRIPTION

CCE15 Cone/ Copper Elbow 15
CCE22 Cone/ Copper Elbow 22
CCE28 Cone/ Copper Elbow 28
CCE35 Cone/ Copper Elbow 35
CCE42 Cone/ Copper Elbow 42
CCE54 Cone/ Copper Elbow 54

Cone/ Copper Tee

CODE DESCRIPTION

CCT15 Cone/ Copper Tee 15
CCT22 Cone/ Copper Tee 22
CCT28 Cone/ Copper Tee 28
CCT35 Cone/ Copper Tee 35
CCT42 Cone/ Copper Tee 42
CCT54 Cone/ Copper Tee 54

Cone/ Copper Redu. Coupler

F
i
|

CODE DESCRIPTION

CCRC15 | Cone/ Copper Redu. Coupler 15
CCRC22 | Cone/ Copper Redu. Coupler 22
CCRC28 | Cone/ Copper Redu. Coupler 28
CCRC35 | Cone/ Copper Redu. Coupler 35
CCRC42 | Cone/ Copper Redu. Coupler 42
CCRC54 | Cone/ Copper Redu. Coupler 54

LTER
INEERING

RICA

7
CODE DESCRIPTION CODE DESCRIPTION CODE DESCRIPTION
cccis Cone/ Copper Coupler 15 CCMA1512 | Cone/ Male ADAP 15/1/2" CCRME1512 Cone/ Cop. Redu.
Male Elbow 15/1/2"
Cccc22 Cone/ Copper Coupler 22 CCMA2234 | Cone/ Male ADAP 22/3/4"
Cccc28 Cone/ Copper Coupler 28 CCMA281 Cone/ Male ADAP 28/1"
CCC35 Cone/ Copper Coupler 35 CCMA35114 | Cone/ Male ADAP 35/1 1/4" w
CcCcca2 Cone/ Copper Coupler 42 CCMA42112| Cone/ Male ADAP 42/11/2"
CCC54 | Cone/ Copper Coupler 54 CCMAS542 | Cone/ Male ADAP 54/2" CODE DESCRIPTION
Cone/ Copper Redu. Male ADAP CCFE1534 (1227;//4(50& FEM. Elbow

CODE

DESCRIPTION

CCRMA1534

Cone/ Copper FEM. ADAP

Cone/ Cop. Redu. Male
ADAP 15/3/4"

B

Cone/ Copper Male Tee

CODE
CCMT1512

DESCRIPTION
Cone/ Cop. Male Tee 15/1/2"

Cone/ Copper FEM. Tee

CODE DESCRIPTION
Cone/ Cop. FEM. ADAP. CODE DESCRIPTION
one/ Cop. . .
CCRALSI2 | 1g/p /g CCFT1512 | Cone/ Cop. FEM. 15/1/2"
CCFA2234 gg;:ﬁop. FEM. ADAP. CCFT2234 | Cone/ Cop. FEM. 22/3/4"
Cone/ Copper Wall Plate Elbow
CCFA281 Cone/ Cop. FEM. ADAP 28/1"
Cone/ Cop. FEM. ADAP.
CCFA35134 35/13/4"
Cone/ Cop. FEM. ADAP.
CCFA42112 | o P
CCFA542 Cone/ Cop. FEM. ADAP 54/2" CODE DESCRIPTION
Cone/ Cop. Wall Plate Elbow
Cone/ Copper Redu. FEM. ADAP CCWPELS12] g/ /o
Cone/ Cop. Wall Plate Elbow
. \ COWPE2234 | o

CODE

DESCRIPTION

CCRFA1512

Cone/ Copper Male Elbow

Cone/ Cop. Redu. FEM.
ADAP 15/1/2"

CODE DESCRIPTION
CCME Cone/ Cop. Male Elbow
CCME Cone/ Cop. Male Elbow

Cone/ Copper End Cap

CODE DESCRIPTION
CCEC1512 Cone/ Cop. End Cap 15/1/2"
CCEC2234 Cone/ Cop. End Cap 22/3/4"

Cone/ Copper Redu. Elbow

aI

CODE
CCRE2215

DESCRIPTION
Cone/ Cop. Redu. Elbow




Cone/ Copper Redu. Tee on Branch

Copcal Solder Copper Fitting

Copcal Solder Copper Coupler

CODE DESCRIPTION
CCITOR221511 Cone/ Cop. Incr. Tee
on Run

Cone/ Copper Spare Cap Nut

CODE DESCRIPTION

Cone/ Cop. Spare Cap Nut
CCSCN1512 15/1/2"

Cone/ Cop. Spare Cap Nut
CCSCN2234 | o2

Cone/ Copper Spare Ring

CODE DESCRIPTION
CCSR15 Cone/ Cop. Spare Ring 15
CCSR22 Cone/ Cop. Spare Ring 22

Cone/ Copper Brass Running Nipple

CODE DESCRIPTION

Cone/ Cop Brass Run. Nip.
CCBRNIS12 | o/ /o

Cone/ Cop. Brass Run. Nip.
CCBRN2234 | o/

/’-‘f‘if

-

CODE DESCRIPTION
CCRT222215 Cone/ Cop. Redu. Tee
on Branch CODE DESCRIPTION
CSCC15 Cop. Sol. Cop. Coupler 15
CSCc22 Cop. Sol. Cop. Coupler 22
Ccscec28 Cop. Sol. Cop. Coupler 28
CSCC35 Cop. Sol. Cop. Coupler 35
CODE DESCRIPTION CSCc42 Cop. Sol. Cop. Coupler 42
CCRTOR221522 ggr:‘eu/nCop. Redu. Tee CSCC54 Cop. Sol. Cop. Coupler 54
CSCC76 Cop. Sol. Cop. Coupler 76
CSCC108 Cop. Sol. Cop. Coupler 108

Copcal Solder Copper Elbow 90'

K

CODE DESCRIPTION

CSCE9015 Cop. Sol. Cop. Elbow 90' 15
CSCE9022 Cop. Sol. Cop. Elbow 90' 22
CSCE9028 Cop. Sol. Cop. Elbow 90' 28
CSCE9035 Cop. Sol. Cop. Elbow 90' 35
CSCE9042 Cop. Sol. Cop. Elbow 90' 42
CSCE9054 Cop. Sol. Cop. Elbow 90' 54
CSCE9076 Cop. Sol. Cop. Elbow 90' 76
CSCE90108 | Cop. Sol. Cop. Elbow 90' 108

Copcal Solder Copper Tee

l_.
CODE DESCRIPTION

CSCT15 Cop. Sol. Cop. Tee 15
CSCT22 Cop. Sol. Cop. Tee 22
CSCT28 Cop. Sol. Cop. Tee 28
CSCT35 Cop. Sol. Cop. Tee 35
CSCT42 Cop. Sol. Cop. Tee 42
CSCT54 Cop. Sol. Cop. Tee 54
CSCT76 Cop. Sol. Cop. Tee 76
CSCT108 Cop. Sol. Cop. Tee 108

Copcal Solder Copper Redu. Coupler

CODE DESCRIPTION
CSCRC2215 ESEEIS::-ZC;;%Redu.
CSCRC2822 gzsbls:r'-zg;g.zRedu.
CSCRC3528 Egsﬁls::-agjgéRedu.
CSCRC3522 ggs-plsé’r'-;s?g-zRedu.
CSCRC4235 ggspls::z; C2<;F3)-5Redu.
CSCRC5442 ggspls:r' -Siig-zRedu.
CSCRC7654 ggspls;l -7C66/>E;1Redu.
CSCRC10876 ggsbls:r'-lgg%gedu.

Copcal Solder Copper Elbow 45.

CODE DESCRIPTION

CSCE4515 Cop. Sol. Cop. Elbow 45' 15
CSCE4522 Cop. Sol. Cop. Elbow 45' 22
CSCE4528 Cop. Sol. Cop. Elbow 45' 28
CSCE4535 Cop. Sol. Cop. Elbow 45' 35
CSCE4542 Cop. Sol. Cop. Elbow 45' 42
CSCE4554 Cop. Sol. Cop. Elbow 45' 54
CSCE4576 Cop. Sol. Cop. Elbow 45' 76

CSCE45108 Cop. Sol. Cop. Elbow 45' 108

Copcal Solder Copper Male ADAP

CODE DESCRIPTION
CSCMA1512 ‘13;’71/520| Cop. Male ADAP
CSCMA2234 (7_:;73/?' Cop. Male ADAP
CSCMA281 gg}al."Sol. Cop. Male ADAP
CSCMA35114 (335’71 Sﬁfon. Male ADAP
CSCMA42112 22}31. Sljlzcw Male ADAP
CSCMASG42 gz;)z."Sol. Cop. Male ADAP
CSCMA763 5273."50!. Cop. Male ADAP
CSCMA1084 gg;:,?'- Cop. Male ADAP

ATER
el

INEERING
RICA




Copcal Solder Copper FEM. Tee

Copcal Solder Copper FEM. ADA.P

CODE DESCRIPTION
CODE DESCRIPTION CSCFT151215 Cop. Sol. Cop. FEM. Tee 15/1/2"/15
CSCFA1512 Cop. Sol. Cop. Fem. ADAP. 15/1/2" CSCFT223422 Cop. Sol. Cop. FEM. Tee 22/3/4"/22
CSCFA2234 Cop. Sol. Cop. Fem. ADAP. 22/3/4"
CSCFA281 Cop. Sol. Cop. Fem. ADAP. 28/1" )
CSCFA35114 Cop. Sol. Cop. Fem. ADAP. 35/1 1/4"
CSCFA42112 Cop. Sol. Cop. Fem. ADAP. 42/1 1/2"
CSCFA542 Cop. Sol. Cop. Fem. ADAP. 54/2"
CSCFA763 Cop. Sol. Cop. Fem. ADAP. 76/3" e St
CSCFA1084 Cop. Sol. Cop. Fem. ADAP. 108/4" CSCWPE1512 Cop. Sol. Copper Wall Plate 15/1/2"
CSCWPE2234 Cop. Sol. Copper Wall Plate 22/3/4"

Copcal Solder Cop. Redu. Male ADAP.
] Copcal Solder Copper Redu. Elbow

CODE DESCRIPTION
CSCRMA1534 Cop. Sol. Cop. Rd Male Ad 15/3/4"

CODE DESCRIPTION
CSCRFE2215 Copcal Solder Rd Elbow 22/15

Copcal Sol. Copper Redu. Tee on Branch

Copcal Solder Cop. Redu. Fem. ADAP.

.
CODE DESCRIPTION
CODE DESCRIPTION
CSCRMA1534 Cop. Sol. Cop. Rd Fem. Ad 15/3/4"
CSCRTOB222215 Cop. Sol. Cop. Rd. Tee on Bran. 22/22/15
Copcal Solder Copper Male Elbow
CSCRTOB282822 Cop. Sol. Cop. Rd. Tee on Bran. 28/28/22

Cop. Sol. Copper Redu. Tee on Run

CODE DESCRIPTION
CSCME1512 Cop. Sol. Cop. Male Elbow 15/1/2" e ztdillieh.
CSCRTON221522 Cop. Sol. Cop. Rd. Tee on Run. 22/15/22
Copcal Solder Cop. Redu. Male Elbow P P /15/
Cop. Sol. Copper Increasing Tee on Branch

-
| ==

CODE DESCRIPTION CODE DESCRIPTION
CSCRME1534 Cop. Sol. Cop. Redu. Male Elbow 15/3/4" CSCITOB151522 5271 55/"2"2C°ppe' Incr. Tee on Bran.

Copcal Solder Copper End Cap Cop. Sol. Copper Full Crossover

—

—

CODE DESCRIPTION
CODE DESCRIPTION

CSCFC15 Cop. Sol. Copper Full Crossover 15
CSCEC15 Cop. Sol. Cop. End Cap. 15

CSCFC22 Cop. Sol. Copper Full Crossover 22
CSCEC22 Cop. Sol. Cop. End Cap 22

LTER
el

INEERING
RICA




Tube Strap

CODE DESCRIPTION
TS15 Tube Strap 15
TS22 Tube Strap 22

Holder Bat Plastic

CODE DESCRIPTION
HBP15 Holder Bat Plastic 15
BBP22 Holder Bat Plastic 22

Slip Coupler

CODE DESCRIPTION
SC15 Slip Coupler 15
SC22 Slip Coupler 15

Copper Pipe and Accessories

Copper Pipe Class 460/0 5.5m

CODE DESCRIPTION

CPC46001555 Copper Pipe Class 460/0 15/5.5
CPC46002255 Copper Pipe Class 460/0 22/5.5
CPC46002855 Copper Pipe Class 460/0 28/5.5
CPC46003555 Copper Pipe Class 460/0 35/5.5
CPC46004255 Copper Pipe Class 460/0 42/5.5
CPC46005455 Copper Pipe Class 460/0 54/5.5
CPC46007655 Copper Pipe Class 460/0 76/5.5
CPC460010855 Copper Pipe Class 460/0 108/5.5

Copper Pipe Insulation 2m

CODE DESCRIPTION

CPI152 Copper Pipe Insulation 15/2m
CPI222 Copper Pipe Insulation 22/2m
CPI282 Copper Pipe Insulation 28/2m
CPI352 Copper Pipe Insulation 35/2m
CP1422 Copper Pipe Insulation 42/2m
CPI1542 Copper Pipe Insulation 54/2m
CP1762 Copper Pipe Insulation 76/2m
CP11082 Copper Pipe Insulation 108/2m

Polycop Pipe

CODE DESCRIPTION
PCP15 Polycop Pipe 15
PCP15 Polycop Pipe 15

Flu/

CODE DESCRIPTION
FLU/75g Flu/75¢g
FLU/200g Flu/ 200 g

Soldering Torch

CODE

DESCRIPTION

SOLDERTORCH

Soldering Torch
Gas Cartridge

CODE

DESCRIPTION

GS1909

Gas Cartridge 190g
Copper Pipe Cutter 15-54

fl‘

CODE

DESCRIPTION

CPC1554

Copper pipe Cutter 15-54

Copper Pipe Soldering Wire

CODE

DESCRIPTION

CPSW

Copper Pipe Soldering wire

LTER
el

INEERING
RICA



ATER

INEERING
RICA




Stainless Steel Socket

Stainless Steel Fittings

Stainless Steel Barrel Nipple

Stainless Steel Plain Ended Pipe

Stainless Steel Elbow FF

CODE DESCRIPTION CODE DESCRIPTION CODE DESCRIPTION

$5515 Stainless Steel Socket 15 SSBN15 | Stainless Steel Barrel Nipple 15 SSPEP32 Stain. Ste. Plain End. Pipe 32
$5520 Stainless Steel Socket 20 SSBN20 | Stainless Steel Barrel Nipple 20 SSPEP40 Stain. Ste. Plain End. Pipe 40
$5525 Stainless Steel Socket 25 SSBN25 | Stainless Steel Barrel Nipple 25 SSPEP50 Stain. Ste. Plain End. Pipe 50
$5532 Stainless Steel Socket 32 SSBN32 | Stainless Steel Barrel Nipple 32 SSPEP80 Stain. Ste. Plain End. Pipe 80
$SS40 | Stainless Steel Socket 40 SSBN40 | Stainless Steel Barrel Nipple 40 SSPEP100 | Stain. Ste. Plain End. Pipe 100
$5550 Stainless Steel Socket 50 SSBN50 | Stainless Steel Barrel Nipple 50 SSPEP150 | Stain. Ste. Plain End. Pipe 150

Stainless Steel Swage Nipple

S.S Weld on Bend 304

Stainless Steel Tee

CODE DESCRIPTION CODE DESCRIPTION CODE DESCRIPTION

SSE15 Stainless Steel Elbow 15 SSSN15 | Stainless Steel Swage Nipple 15 SSWOB80 S.S Weld on Bend 80

SSE20 Stainless Steel Elbow 20 SSSN20 | Stainless Steel Swage Nipple 20 SSWOB100 | S.S Weld on Bend 100

SSE25 Stainless Steel Elbow 25 SSSN25 | Stainless Steel Swage Nipple 25 SSWOB150 | S.S Weld on Bend 150

SSE32 Stainless Steel Elbow 32 SSSN32 | Stainless Steel Swage Nipple 32
SSE40 Stainless Steel Elbow 40 SSSN40 | Stainless Steel Swage Nipple 40 —

SSE50 Stainless Steel Elbow 50 SSSN50 | Stainless Steel Swage Nipple 50 -

Stainless Steel Red. Bush

CODE DESCRIPTION
SSWOT80 | S.S Weld on Tee 80
SSWOT100 | S.S Weld on Tee 100
CODE DESCRIPTION CODE DESCRIPTION SSWOT150 | S.S Weld on Tee 150
SST15 Stainless Steel Tee 15 SSRB15 | Stainless Steel Red. Bush 20-15
SST20 Stainless Steel Tee 20 SSRB20 | Stainless Steel Red. Bush 25-15
SST25 Stainless Steel Tee 25 SSRB25 | Stainless Steel Red. Bush 25-20
SST32 Stainless Steel Tee 32 SSRB32 | Stainless Steel Red. Bush 32-25
SST40 Stainless Steel Tee 40 SSRB40 | Stainless Steel Red. Bush 40-32
SST50 Stainless Steel Tee 50 SSRB50 | Stainless Steel Red. Bush 50-40 CODE DESCRIPTION
&-"-' SSWOR100-150 ibso\-’\gg on Con, Red.

S.S 304 Weld on Flange 1000/3

IHI

CODE DESCRIPTION CODE DESCRIPTION

SSU15 Stainless Steel Union 15 SSBV15 | Stainless Steel Ball Valve 15

SSU20 Stainless Steel Union 20 SSBV20 | Stainless Steel Ball Valve 20 -

SSuU25 Stainless Steel Union 25 SSBV25 | Stainless Steel Ball Valve 25 CODE DESCRIPTION

SSuU32 Stainless Steel Union 32 SSBV32 | Stainless Steel Ball Valve 32 SSWOB80 S.S Weld on Flange 80
SSuU40 Stainless Steel Union 40 SSBV40 | Stainless Steel Ball Valve 40 SSWOB100 S.S Weld on Flange 100
SSU50 Stainless Steel Union 50 SSBV50 | Stainless Steel Ball Valve 50 SSWOB150 S.S Weld on Flange 150

ATER
el

INEERING
RICA




S.S 304 Weld on Flange 1000/3 Stainless Steel Round bar

CODE DESCRIPTION

SSBM1240 Stainless Steel Bolt M12/40

SSBM1250 Stainless Steel Bolt M12/50

SSBM1275 Stainless Steel Bolt M12/75 CODE DESCRIPTION
SSBM1645 Stainless Steel Bolt M16/45 S5R12 5:5 Round bar 12
SSBM1650 Stainless Steel Bolt M16/50 5SR20 S-S Round bar 20
SSBM1655 Stainless Steel Bolt M16/55 Slilip e LrE Lo
SSBM1665 Stainless Steel Bolt M16/65

SSBM1675 Stainless Steel Bolt M16/75

SSBM 1680 Stainless Steel Bolt M16/80

SSBM 1690 Stainless Steel Bolt M16/90

SSBM16115 Stainless Steel Bolt M16/115

SSBM 16125 Stainless Steel Bolt M16/125

SSBM16150 Stainless Steel Bolt M16/150 CODE DESCRIPTION
SSBM2065 Stainless Steel Bolt M20/65 SSAI25253 S-S Angle Iron 25/25/3
SSBM2075 Stainless Steel Bolt M20/75 SSAI30303 55 Angle Iron 30/30/3
SSBM2080 Stainless Steel Bolt M20/80 SSAI40403 55 Angle Iron 40/40/3
SSBM2090 Stainless Steel Bolt M20/90 SSAIS0503 5.5 Angle Iron 50/50/3
SSBM20115 Stainless Steel Bolt M20/115 Stainless Steel Flat Sheet
SSBM20120 Stainless Steel Bolt M20/120

SSBM20140 Stainless SteelBolt M20/140

SSBM20150 Stainless Steel Bolt M20/150

SSBM20180 Stainless Steel Bolt M20/180

SSBM2490 Stainless Steel Bolt M24/90

SSBM24100 Stainless Steel Bolt M24/100

SSBM24125 Stainless Steel Bolt M24/125 e - edilliel:
SSBM24160 Stainless Steel Bolt M24/160 SSWOBS0 S.5 Weld on Bend 80
SSBM24180 Stainless Steel Bolt M24/180

SSBM24190 Stainless Steel Bolt M24/190

CODE DESCRIPTION

SSNM12 Stainless Steel Nuts M12 CODE DESCRIPTION
SSNM12 Stainless Steel Nuts M16 SSWOB80 S.S Weld on Bend 80
SSNM12 Stainless Steel Nuts M20 SSWOB100 $.S Weld on Bend 100
SSNM12 Stainless Steel Nuts M24 SSWOB150 $.5 Weld on Bend 150

LTER
INEERING
RICA




NOTES

LTER
INEERING
RICA




NOTES

LTER
INEERING
RICA




